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1. smrivéveourl @l et L. heud sranilé@n saflob
Al eowsGrrdleene - Bj UL Ty emevL.
Q) SrgCardlermen : - D}  ghllenin.
Caﬂsbad twln is shown by the mineral '
A_) microcline B) staurolite
C) - orthoclase ‘D) gypsum.

2. . Epsseion. G\&mj)aeﬁ]e;o, 58 sfley Qamain weedGeaTNenard @GBlLUg a1g ?
4} u@ens smiey B) Qeefllypubes
C} e dlyplupens D) dewlLeuesr.
Which of the following terms indicates synclinal hill ?
A) Dip ' y B) OQOutlier
C)  Inlier o D)  Strike.

3. &@psargmd ersdunsemer seue :
ahgb@(A) : LPRIST oS 6) & GRTL_ 6T He T hgeares .
sryemd (R) : Qgar s bhseflgnd whnd @hduralgnd Herrayigrer wHD
| Glamiswmiug ey ereargud Freurhiaer sreaoL@SleTne.

Spseramid GOl ge sflurar el ow Cathsd |
A (A) oppid R Gradd sfl, Cugud (R) ererug (A) fpe sfiurer allerésn
B) (A lnﬁ)@ub R) @resm@e afl, Gogud (R) ererugl (A) alh@ eflurer allenéawde
C)  (A)wbpid (R} @yeorid Seup '
L) (A sfl, yyemen (R} geupy.
Consider the following statements :

~ Assertion (A): Continents have drifted in the past.

: Reason (R}:  The Glossopteris and Gangamopteris flora have beeh found on

all the Southern continents and India.

Now select your answer according to the coding scheme given below :
Al  Both (A) and (R} are true and (R) is the correct explanation of (A)
B} Both (A} and (R) are true, but {R} is not the correct explanation df {A)
C) Both (A) and (R} are false
D) (A} is true, but (R) 1s false.

.]LF 742 | x{1910] [ 19000 [ Turn over



UDGE . 4

4. yeaygens’ sl QUULIHS
A) 2:3 B) 2.7
C). 26 D) 2.5,
The spectfic gravity of tridymite is
A) 23 : B 27

C) 26 . D) 2.5.

5. Uaraupeaarepnel urtap Geaasele, Gueloss sTéssdame o meamaug
28 T ; - e

L. gresor GuredTp (@)oo eauTeysHeT
1.  GusEp @eerayser
HI.  u@ersgen @G aysel

IV. &eflwedor 2 et eysei

Gleuppuet :
A)  Twpgd M sflurearame  B)  lwpgid I sfluraravey
C) I Iloppod IV sfurerame D) oe@asgd sflurarame.

Which of the following shows the effects of tensional forces ?
L Columnar joints
II.  Cross joints
IlI.  Bedding joints

IV. Mud cracks.

Of these :
A} 1 and 1l are correct B) I and Il are correct
C) I. II and IV are correct D) all are correct.
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6. semburopssiian gaaraailar Heray detau@b aryamhaallamrsd ghuRdng

A} UTeD&EGPDLsefiest L}@QUG\UW@GIT

B) uremé@pbysefle un@rﬂm@

C) urenps@pbusefle wevdamnaeilear Qapley

D) @eveu TSz,

Grain size of igneous rock is affected by

A)  constituents of magma

B)  viscosity of magma

C)  molecular concentration of components

D}  all of these.

7. Jeraumesteuppel setn sradlGlrail suanswde

A} gue B}  Semmevwor
C)  Ggevui | D} geflés.
Which one of the following is not a variety of chalcedony ?
A) Opal B) Plasma

C) Jasper D) Onyx.

8. wigue Ig ulgue He & Qurepsdl, dCp Qar@ssiu Geaier @RldGsamens
Q@ sflurer el ewus Carpa@ :
uligwe 1 uC e I

a)  gpeufllems HdEsmLIY &L Georrls Ligey

b) &leos SBH&sLIY L Buir et lemementéo

cd  uEsDD sy Sigpailwee soGueben

o d) Qenffiia-Guret SBsHaenwiy
esolmser :

a b ¢ d

oL N

Lol lemmL_eh.

A) 2 1 3 4

B 2 1 4 3

D) 4 1 2 8

‘x[1810] ' : [ Turn over



UDGE 6

Match List I correctly with List II and select your answer using the codes given

below :
List I List II
a) Graded bedding ‘ 1. - Near shore deposit
b} Current bedding 2. Eugedsyncllnal
¢) Torrential bedding 3. Allvial fans
d) Herring-bone bedding’ 4. Tidal fiats.
Codes .:

A) 2 3 4
B) 2 1 4 - 3
C} 3 4 2 1
D) 4 1 2 3.
9. eteurm hg‘)@&,ms;r seuaTgSles Qamars :

I B Qurpelles opofllldr Caab, spa gl allessd sanaipe
agdlfLrs Gmeeh

i gl sflsora galalass @l o 2 cirer QUTGErHeR Ceusns
BBEGD |
. eeurgder @aﬂaﬂ]aam;sb @OWIE eretor 2.42

V. saoanmgdler geflalasnd @fl acn saLr urdsgag ol fisb.

@G‘Lll'j)@jsﬁ’ :
A) 1 whHmyo 11 shlurerene B) Twpgd I sfureiesu
C) I I whmd IV eflurersnen D} IVul@d sflurerg.

x| 1910



Consider the following statements :

L The velocity of light of a substance is proportional to the reciprocal of
the refractive index.

II.  The velocity of light is higher in substance with higher refractive
index.

1Il. The refractive index of diamond is 2-42.

IV. Glass has higher refractive index when cornpared with Canada
balsam. '

of fhesg statements :

A} TandII are correct B) [Iand I are correct

C) I, IlandIVare correct D} IV alone is correct.

10. Serapd sappiseer scuergdle Carers :
L oarsdean galipd genaw spd pGeryCGrrmils setenwwrgid
. eveupgdlen Qslﬂ(gfb peirew gefl a@@aid Feramowreurgd
M. oaugsdla gefllph sgdiow pd gaflaiass aan  fsors
{lmULHTS

V. oaysdler geflipd gdron g galou e w@m@EapCurg
GusGeumy Hiphserrs Jfagn seramvuTarEb.

@lsupmyst :
A)  Nuwl @b sflurerg B) I wppo M sflurarane
C) I H wpgn IV sflureareneu D). Hlw @b efurerg.

Consider the following statements :
I. The brilliance of diamond is due to its isotropic character
H.  The brilliance of diamond is due to .i-ts trunsparency
III. The brilliance of diamohd is due to its high refractive index

IV. The brilliance of diamond is due to its ability to break light into
different colours during transmission.

Of these statements :
A) 11 alone is correct . B) 11 and I are correct

C) . I, I and IV are correct . D) Iil alone is correct.

x[1810] . ) { Turn over
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11. urepsepblldlehs saorburpsst 2 GuTMEHE WHEL SITETLTEHSE

S(HSHLLDeUg
A)  yeldrinlé uyps B) 2o dlydlsse
C) uLfge , D) Ceaupu@sev.

Igneous rocks are mainly derived from which of the following processes of

magmas ?
A)  Gravity settling B)  Assimilation
C) Diffusion D) Differentiation.

12. Oereumb sappisener sauanidle Qanes :
1L eousGamfiLt go Haéarg snpal
1. ousCamLt seflohssfa guuisdlou shlu 2 sadng
.  eusCarmbiLfé a..uGu.lrrﬂé.&uu@fn &eonoiD ‘gn'smres Bmss Coucor@id

V. eousCamdiLfle Gyan® gl bast 2 ererer,

@ eubmysef
A} Tw @b sflurerg ‘ B) wpybd IV sflwurearensu

C) 1l wpmd IH sflureremeu D) IVol@o sflurerg.
Consider the followihg statements : |
L. Pycnometer is an electronic instrument
II.  Pycnometer is used to determine specific gravity of minerals
iII. The mineral sample used in pycnometer is in powder form
IV. Pycnometer contains two pans.
Of these statements :
A) I alone is correct B) Il and IV are correct

C) 11 and III are correct D) IV alone is correct.
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13. Jlereumd sefloismen sgarpgaiean sfafissn gpopde afesiuGsg :

14.

- a) gded — Cunumdy — e — @eurie.

B) Gurumey — @sufrl’h'.é'u — SuenL . — ghiligid

)C) lsd — sl — Geaurtldy — GLrurev

D) glled — @eaurtiey — Suen L —-(Burrurraiu.
Arrange the minerals according to inc'feasiﬁg hardness :
A) Gypsum — poaz — Apatite — Quartz

B) Topaz — Quartz — Apatite — Gypsun;

Cl] Gypsum — Apatite — Quartz — Topaz

| D) Gypsum — Quartz — Apatite — Topaz.

Aeoumd snppsaner seuepdler Oameia

I. &qmg‘{g,s&rmm SO GUUDL WL FESTEOWTGLD

L IL sgenppetonn ahs sfliogdlad CleudiCoup flansadfle wrpauddme

. ghlushd, Lirdens all Gk witi@ sQearb e ererg
V. allyé pagdler syenn 1-5 & Gnhg 2-5aor GHsHEh.

@mlj)@jsﬁ H
A) T @o sflureng B) 1wpped I eflurerene
C) L Il oppbd IV sflurarene D) 1wpgd IV sflureranal.

Consider the following statements :
1. Hardness is a relative property
II. Ha.rdnes;s does not vary in different directlohs in any mineral
I, Gypsum is two times harder than talc
IV. Hardness of finger nail {s between 1.5 and 2-5.
Of these statements :
A) I alone is correct B) Iand Il are correct

C) I, lland IV are correct D) I and IV are correct.

- (15000 [ Turn over
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15. afgp&&afun._mrj)gjeﬁ sflurs QurEssdlaars @lemeo1iLy arg) ?

A)  SerGurev yemLwremd —_ Lgb@ urenp GlesLpdley

B) o uGel fCrmeL — e o éueny patey G apdley
C) &larem waiy —  enpryem GeLadiey

D; Ogrogi aés Qe Gl  — urep Gever gpdlosur ewiny.

Which of the following pairs is incorrect match ?

A) Plumose marking - —  Thrust faults

B) Offset streams | —  Strike slip faults
C)  Triangular facets ~—  Normal faults |
D)  Palaeontologic break — Dlsconformitg'f.

16. yGenmyadinen seemn Qaret Haflob
A efeoel B) eulen
C) @euniia D) éitamen.

Fluorescence is characteﬂstic of the mineral

A}  sheelite B) sphene
C) quartz | D) arcon.
17, 2dflemhiser wyhg s L@mrraa wrgd Curg Sigst Hesaardbel ufid Blrluiu@b
geflpibd ‘
A) srdemsl. B} 7 Sedlsam
C) @ ®iby evuasyL (a6 D} Qo searpgid.

The chief mineral replacing the original substance of organisms by petrifaction
process includes ' :

A)  calcite : : | B} silica

C) iron pyrites ' D}  all of these.

x[ 1910
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18. ' dp&argmd aurdEuiisenen Heue :

apgy (A) @ Qurgeurs damomvure urapsdlguer Bl Sidlifey sl

21815Ceus g o1 Lmbdletpeor.

srgewrd (R): Ha s@flta smasalla Gasb uropssid Qpdlpe satawamu

Quressg. Ondipapsaian sefleeblury Blo e
Sjoeseflar Caunupd Hfafsdang.

Fpsarapib @GRl d eflure aleLaw Caiboed :

A)

B)

C)

D)

(A) wHpd (R) Guas@id afl, Gueud (R) eretug 4 albe sfurer alleréan
(A) vpgd (R) Gyekr@b &, Gugub (R) eresiugy (A) elh@ sflurer allensavdien
(A) sf) gemes (R) geumy

(A) geupi syeormed (R) aifl.

Consider the following statements :

Assertion (A) : Denser rocks generally show a higher velocity of seismic waves.

Reason (R) :  Seismic velocities depend on the value of elastic constants and

_increase with an increase in their value.

Now select your answer according to the coding scheme given below :

A}
B)
Q)

D)

Both (A) and (R} are true and (R} is the correct explanation of (A)
Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) is true, but (R} is false

{A) 1s false, but (R} is true.
{ Turn over
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19.

20.

Jeteumd snppidbener seucipdler Qamelrs :
Helller oy
L PapheCarigdmhg 6378 H.6
I @mﬁ@é@én&qeﬂ@ﬁ,@ 637-8 815
U gioas uedisiebs 6356 0.5
V. gean usdddimhs 6356 6.8

@leubhmyst :
A)  Tol@d sflurergy B) ITwbpnd H eflurereneu
C) Iupmo U sfluretana D) Twbgod IV sflurerane.

Consider the following statements :
The radius of the earth is
L. 6378 km from the equator
II. 637-8 ki from the equator
[II. 635-6 km from the polar region
IV. 6356 km from the polar region.
Of these statements :
A) I alone is correct BY 1landlIl are correct.

C) landIlarecorrect D) Iand IV are correct.
dereu@euaraupmet uTopsGPpbller LGHLEOLTGBL ST SPHUTDWITET aﬂrp@
&Y 65 (pigwurg

A)  delismedr B)  umevugey

C galurgbd QuTE sef D) smlgi.

Which of the following components of magma could not be determined in the

analysis of igneous rocks after solidification ?

-A) Silicon B)  Phosphorous

C)  Volatile constituents D) Copper.

x[ 1910] ' 19000
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Guurglet soamuBalst ouueduiie STaETOLPD UT&asluLTS BIEALYE

A)  dGergler L B) eanuGurgler ugd

C). Gamer gyt ZseBGLaest D} @uurglen sheul u@@
In the 's.upergene sulphide enrichment the lower unaffected part of the ore body
is the ' |

A}  mesogene zone B} hypogene zone

C) zoneof oxidaﬁon D)  supergene sulphide ‘zro‘ne.
ereurliGurenyLl. Lgeuddler s seflvd sreri@Sng 7

A)  Gergwp GCetmeany® B) glusb

C} s 7 D) serggb sflureaianal.
Commercial deposits of evaporite minerals may consist of

A} sodium chioride B) gypsum

C) zinc D)  all of these.
@ué,ws;s)l_;i_'_l.q.eb S s@b @sdansad g 7

A seyallen _ B} (@euriien

C) Guéeumt D} wyssb.

Some pegmatites are mined for gemstones such as

A}  olivine B} quartz

C} feldspar D} emerald.

urep gsdosur Hovulld, wdu urepsst gaThuTOD uEBDWSE
g hBeeLLTs: GYEHETH Ssed Gluwt -

A) GoutGeols B} - gy coiiGaut

0  ureop Gevew gidlaeun iDL D) urenn spblensur semoliy.

The type of unconformity in which the older rocks are of plutonic igneous origin
is called

.

A) dverlap B) offlap
c disconformity D) non-conformity.

x[1810] [ Turn over
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25.

26.

27.

o meurdluster ellsdems eeupg Uletrigerd, GCrmbilub vHpb BlEse Uy aSeT
eTeueLITn B p&aluBdng 2

A)  oant Gurginé Ligeub B} Qgeﬂqu;me’u g euid
C) Guwswrligs ugeub D) e&&sG0 ugaib.

According to the mode of formation, the deposits of platinum, chromium and
nickel ore are

A)  hydrothermal &eposits ‘ B) residual deposits
C} magmatic deposits D}  placer deposits.
Sereumeuatouppiel 6HS e iwhs we o eteng) 7

A} dgrenerl ‘ B) . e Qurenyl
C)  amtiQesl D)  wnidet,

W.hich. of t.he following‘has the highest compressive strength ?
A} Granite . B)  Diorite

C)  Quartzite D) Marble.
gneufleamalepeier UTenn SHSHELG eTenous 6l

A) - Dfav, suCl g, Cmein, Hevid, FyTSHSID

B) févb, ryrssid, Gumen, svGlgh, Sifen

C) Ggren, svGLgh, fifev, Hlavb, FyTHsd

D)  difev, e, vGLgh, flev b, FIrHs.

Ascending lithostratigraphic units are

A) series, stage, zone, system, erathem

B) system, erathem, zone, stage, series

C)  zone, stage, series, system, erathem

D)  series, zone, stage, system, erathem.
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28. Qeubushefll &edoreorTbLlUTeD STeuluRD uflans _

A uurseR Ffleu . B) GQawwrt Fflev

C) meveuwene &henv D) dlevlenm &hlev.

Vempalle limestone is in

| A) + Papaghani series B) Cheyyar series

C)  Nallamalai series D) Kistna _‘serles..
29. Gue G&né’m@mnwnaﬁ]s& @eroLgev yGermrym

A geBamiden - B demaveriflé

C) Caraodeureaiigwid D) shswroLfey.

’f‘he index flora for upper Gondwana is

A) Ptillophyllum | B) Glossoptéris

C). Gondwanidium D)  Gangamopteris.
30. Garameurearalier Gm ey eu@&ﬂuw&@s&T (P&l g LemL

A) LIT e meUEn s | | B) ST VT LN

. C) umeusTS &Myeson D)  @eubmist ergoqbiciemen.

The two fold classification of Gondwana is méinly based on

A} - lithology B) flora

C) climatic factor - D} . none of these.
31, ‘gyiaCawen e eunfdagew wpgeder SPpaiu@HSHwet

A) J.D.irrem B) DN CUITIGALIT

C) M.S. fimeiycmoren D) Ggidév anl L s

The word “Archaean” was first coined by

A} JD.Dana B) D.N. Wadia

Q) M.S. Krishnan D) James Hutton.

xl 1910 ! 19000 ] : [ Turn over
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32. @Qpdlu shs u@q&sﬂs&t Garhmnb N&Taumd suensmewd erihss
A) afGsirne B) Lé’(%&rr_@gr'rms'u
C) oapCurGigind D) efiGanr@asrtinén.
Thé Indian gold deposits are {ofmed by which of the folldwing o'rigiﬂs ?
A) Epithermal B) Mesothermal
C) Hypothermal D) Xenothermal.
33. srgoLen gleranurs Slasabhingu Cseaiubn QUTmeT erg ?
A) seflné &g : _ B) Geuliuwpmed
C} @amlguwid . D} & Pwid.
The waste materials associated with ore are called
A) | tenor B) thermometer
C) - dump ' D) pgangue.
34. r5sm@ Cafhs wHEd WeHHuoTer sTEAHET ahe HoTeald GBhHE 2 GuTHng
A)  Ulemyebr B) ean' Gyr Qs
C) OGuriordub . D) enfusmei.

The best-known and most important ore deposits are those that are produced

from ....ocitiiienn solution
~A) brine B) - hydrothermal
C) potassium D) carbonate.

35. |j1a'srcx..|a_r)tb Fabhpsaer soaipdlé Cames :
L yaluresngy gy Quflu gL Gésemmd g arg
il yadlwreng e @ Quflu gl GéseTTes | T
I yedwreng upg Qufly gL HésenTe oy erg

V. ualwrerg spestug Qufiu gL@éaame eng

Bleubmysit :
A, Il @b eflurerg B) I wbmb I sfluretena
C) L Nopmio I sflwrerenel D) soarpgn sflurerae.
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Consider the following statements :
I. Earth is comp;)sed of seven large plates.
II.  Earth is composed of eight large plates.
. - Earth is composed of ten large plates.
IV. Earth is composed of nine large plates. '
.O'f these statements :

A) I alone s correct B) [ and Il are correct

"C) 1, Il and UI are correct D) all are correct.

Jesteumd sapnimwmer Gouardpdler Glarers :

L UIGWTL RS sL® wLmse Qardomsdle sl s hsefles
CuGeor g armes i eoTemn6 '

I yelCLrIi@s s wLusd Osrdostled sl Ges suysdysdda
CuBeiriigarmes i, eemeu '

UL yalCurl®d &G wLhss' Qaramalls: U [Re6T &or_kser wHb
b Hder Cularliyame o mamea

V., yelGuri®é sLG wbLASR Oardeanulle sl(iest scwLhiser,

spidrsddr CuCan® whmid Guergeldr Cudued o duabnmd

24 6TTemE.
Qeuppiet :
A Twl@Eb sflurerg B) Huwl @b sflurerg
QI wl@i shurearg D) IV @b sfurerg.
Consider the following statements :
I. In the plate tectonics concept, the plates are made up of continental
crust only.
It. [n the plate tectonics concept, the plates are made up of oceanic
crust only.

III. . In the plate tectonics concept, the plates are made up of both
continental and oceanic crusts.

IV. In the plate tectonics concept, the plates are made up of continental
crust, oceanic crust and the upper part of the upper mantle.

Of these statements :
A} I alone is correct B) I1 alone is correct

C} 1l alone is correct D) IV alone is correct.

x[ 1910] . ' [ Turn over
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37.

38.

39.

40.

Qurerp BéHsd THuGaE
A)  Quendlsé dlemgallarmén ﬁ] Caudfiud Hagealenme
C) 2di Gaudlllwer Slevgalerren D) dlamen QU@L Sangeure.

Exfoliation is a form of

A)  physical weathering B) chemical weathering
| C)  biochemical weathering D) mass wasting.

ng@mw@ur_qc&r ussaTleLyd, Naugdouyd EGeeeiusTd 2 @Hargb
Gamemid '

A) cuemuwt @& merord B) QaertGludert @areaoid
-C) gestés Ganmamid - D) @eubnet ergieflciene.

The angle formed between lateral and posterior borders of trilobite is

A)  spire angle . é) glabellar angle

C'  genal angle | D)} none of these.

HNesreumpenetaipmuet Cuaerfl GLib ( Hemes ) cuersanws G&ﬁﬁ;g@ D6 7
A} ulLpev gqsmml - B) digralily Sjememr

C) s et D) @emeu B,
Which of the following comes under masonry dam ? _

A) Buttress dam | , B)  Gravity dam

C) Arch dam D) - Al of these.

OGerar Ligeud 215 Coremu H8s GLsdlé E»I'I'GUBTL;IUL'_I_ITQ'O'a{gj .................... e
S| P& HUILGHDE. | '
A} gQurellesr NGera : Bl  sguelud JGsnar

C}  meyailwés SQenart - D) Gargreiiud dGereit.

A placer deposit formed at the site of the destruction of the primary source rock
is called

A)  Aeolian placer B) Alluvial placér

C)  Eluvial placer D) Colluvial placer.

x[1810] ~ [19600]
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e 2_HUThabdpera QswudLrGser

Al UTenD gL BlBpaselr B) uresp e pidle) Hapeoset

Cj gswgt)urrmg) esn(Rpyencd D) @leoer s@mandgib.
O’rpgenic activity includes

A) fbid episudes B) fault events |

C) ' igneous intrusions . D)  all of these.

srhsuueell sewullé @O sor adip Qerd ahsy  ugauewilibe
LWSTURSSUILRE DG 7

A) o Repks sefloar B} Qslygures urep

- Q) ugeyiurenp D) weoihuTenp.

~ ‘Running ground’ is the term related to tunnelling process carried in which of the

following formations ?
A) Clay saturated with water B) Hard rock

C) Sedimentary rock : D) Sandy rock. .

urepn GleL wdlalle CeliGhgeriey bbb u@mcﬁuﬂm efbﬁg)aamm S Fueneal e
2 efren UTen GleLapiialler Quuwr

A) Quw QoL apidley - Bl adlf @eo ey

<) el oL Gleo upidley | D) Osigss @@L@;ﬁ\m.
Thé rake and plunge are equél in

A) normal fault B) reverse fault

Q) horizontal fault D)  vertical fault.

[ F 743 J x/ 1910 | |_1290£ ' [ Turn over
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44, Ge:smrréo Bleusefllles wrbpy Guuwrt
A)  uraQeml @@&&rﬂ : B) 4o
C)  upty Hlevdafl D) gbsgrensl.
The another name of canal coal is
A}  bog head coal B) peat
C) lignite : N | D} anthracite.
45. QpLCadiie 2 erer Ly Hessfldr seamssh Gelwiing L cg;;snsu ?
A) 2900 Hevedluest Lestaelr B) 2600 Hevedlwed Lebtamef
C) 3900 Méedluen L ebrast D) 3600 Béedwesr Laraer.
The estimated amount of lignite deposits at Neyveli is
A) 2900 million tonnes B) 2600 million tonnes
C) 3900 million tonnes D) 3600 million tonngs.
46. gFoysst, Feo susmsweqe;eﬁ Wb &co'mr..;‘r;ﬁsh ggﬁ ugdleer g Hueeu Guluug
A) seam g Cular®
B} swsdlysdlar GuGar®
C) saLb susdnsde @eu L Culer®
D) (A whpid (B) @i
Islands, island arcs and continental margins are the examples of
A) continental crust B]  cceanic crust

C) transitional crust D) both (A) apd (B).

x: 1910} _ [_laooo ]
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47, adlyeuett wedTL®b o @meuren allgb

A) i@l Qeuefiflés ‘Opyenr ereaTOLED TS emTeoT SuleroNeSwbgi‘

B) oo Qmaﬂuﬁ]é\)_ &#HPé QaramgEhs @eflihs fras Qpyarailel®mbal

C) oo Qeausfidie ar;brﬂé, Qaraonymhs Gefllibs S @mqa;rraﬂeﬂ@ﬁ)gf

D} IibaTasdle ubs GpueTaal upl Cgaflore apsgsadt Gdaame.

Solar system was formed from a

A)  hot gaseous incandescent nebula rotating in space

B)  cold liquid nebula rotating in space

C) . cold solid nebula rotating in space

D)' ._no—clear cut idea is known about the nature of the nebuia at that time.

48j QpLjeurt .(Baarrc_urrLGmt_ wperQuorPlbsalt
A} 0O.J. euflg B)
QO s wppid GeuiGoe D)
The Nebular hypothesis was proposed by
A).  OJ.Schmidt | B)

C) Kant and Laplace D)

Gleusnumr & oI

QuoerdoLait wippid Gebuitedles.

Weizacker

Moulton and Chamberlin.

. . L)
49. @By STEEHNG GEODHS SR ETSHETED 2 ofeT STE TF 7

A} Eevwwener ‘ B)
Cy eyl : - D)
Which iron ore is havipg least hardness ?

A) " Hmenite . | Bj

C)' Siderite D}

OIG eIl

Uy .

Limonite
Pyrite.

{ Turn over
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50. SHSHTEHS éngﬁ&meﬂ@ éleﬁ\&;rrémm ol Geowdé Qermmdeien T ag
A) suGuenemyL_ B) du@ﬁ;@emrransml;
C) anbwriem. D) Syrisefererl.
Wha.t is the namie of zinc ore Which contains silica in its composition ?
A) Sphalefite B) © Smithsonite
C) _Hemimorphite Dj Franklinite.
51. QGeud @sﬁ)wlﬁle‘\; Slelamemeu Qu;bger‘rm-g,rr@u;rg STE e 7
A) GumirementL B) e&areGaremsl
Q) QL L yTRenL el D) HeoyGeranméeur.
What is the name of copper t.n"e_ wl;ich contains silica in its .composition ?
A) Bornite B) Chalcocite
Q) Tetrahedrite ' D}  Chrysocolla.
52. d\@m@mmﬁ)@éﬁ erg Qusomlyé CesfGaayes uamsenw sTihss
A) uThensl LG &S 6T B) @@L‘Dq LIg 6y & 61T
C)  &Cpmblud wgeyselr D) urev@ur Lgeysel.
Tﬁe best example of magmatic segregated ore is
A} bauxite deposit - B) iron deposit

C)  chromium deposit D) phosphate deposit.

x[1910] |
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54.

55.

23 UDGE
saorer saflvb Cusrar salvsdd QehE Qubesurs Uflsaiuid wonss

eresten GLwr 7

A)  Gpélgyed Lgeysen Bl Quésraféss s eig g By ayedt
C) OesguanGLaye ug el D)  sOdlelGuaye Ly aymet.

Natural separation of heavy minerals from light ores is called

A}  residual deposit | , B} = mechanical concentration

) sedimgntation deposit D) sublimatjon. deposit.

peThEwdy Hyoud gpowts pura ueHdis sremiudb urop BHsesNe

Ligyd BTESEHELHE aeret CLLF 7
Al Qeguwemf ugeysei B)  OQenair Ligeymen
C)  Qpdlgyeid Lgeayse D)  oanlCGrrQigine Ligeaysel.

Mineral rich veins within plutons, deposited by magmatic fluids into fractures
are called '

A} 5 sedimentary deposit B)  placer deposit
C)  residual miheral deposit D) hydrothermal deposit.v
ureap Gpodle @ohe Corgurs o waurdly grgbser ................ 6T 607
S PssluGE g

A) Guswrgés Q86N ayer Lig.euid B) eneorrél Qi moritils Ligeul
C) QusvaLLl . D) JdGerad ugeud.

Certain ore deposits that are deposited earlier in‘the magma chamber are termed

as
A) magmatic segregation deposits B) contact metamorphic deposits

C) pegmatites D)  placer deposits.

} 1910| o ' - . [ Turn over
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56. &péeeior s eflotisefié abs B Saflod Carert shs awelle susslar®
Qevwibg HlerLsAng:. '

I ey
. JdfGammemi
. sytdGarranuenyL

IV. GamwenLL.

@eubpef
Al loc@bd B)  1wppod I
C) L Mwpmb III D} @ emeiggin.
Which of the following mineral(s) is/are associated with the gold deposits of
Kolar ?
L. Pyrite

1. Pyrrhotite
III.  Arsenopyrite

-IV. Hematite.

Of these :
A)  lonly B) fandll
C} I landIl D}  all of these.

57.. LgrCaubpd GQuidro ‘BWlréownd g owbHBsed sdn Goeardear apeid
.................... SeralH@ GHH&FaWIG).

A) 180° B} 270°

C) 360° D) 240°.

The loading machine “Drag line” is capablé of rotating ......... U on a turn
- table.

A)  180° B) 270°

C) 360". - D)  240°. -

x ono | . 19000
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58. uLmbGu ewap GOISs FpssaL anrsduisddls aame sfluraramea 7
I. 2B & LDGIITL v 2_ Wit 6uT Sy 2_(HEUTET G
IL. Qut@grr‘aﬁ]q.ub &eBorarsidL urenpaaiiey dlem_&fng
. . @g mbog gs_rrt.'.m,a'ﬂ 75% Copemeuew wisd Geudng

V. wasiwpaopurs aulurild sreagog ol hamd Geerw urenp.

Beuppset -
Al lopgod 1T eflurerene B) 1wppbd I sflureramey
Gl L Nuwppi I sflurereme : D) eomarsgh sfluretaey.

Which of the foliowing staterﬁcnts about Bombay High are correct ?
L. It is a regional uplift |
1. . Oil has struck in limestones
m. It conﬁributes about 75% of the need of the country
IV. It is younger than Miocene for the first time.
Of these statements :
A) | I and Il are correct - B) I and I are éonect

C) ' 1, I1 and 11l are correct D) all are correct.

59. d&péscoiLeubniel Seunmeor Gleneiiig erg ?

A)  smpmgem Georpfly —  #foy @y

B)  afli @eLwdey — Gosealas G iy
C)  Oprphig Qeorwdley —  Crgé Qeorapdey

D) @Glevewrey GleoL.apiiey — S @ml.._@rﬂq.
Which one of the following is incorrect match ?

A} . Normal fault - _ _ Gravity fault

B) Reverse faplt — Compressional fault

C)  Tear fault ' — Wrench fault

D) . Hinge fault — Scissors fault.

" {_.-1'51—6 ' - { Turn over
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60. g GeLllé alurtéCaudt pidlasur el 2 ereng ?
| A) | GurBhwesr mrj)lr‘gub Cemyurélé |
B} sy r&Cawes wpgd yCymiylrrGgmiis 4
C) oréGouwe whpid GarasrBaurerr
D) Qe emeidHein.
Eparchean unconformity lies between
A) Permian and Triassic B) - Archaean and Proterozoic
C}) Archaean and Gondwana . -D}) . all of these.
61. @ CararrReunar 2 GRUASSILLLCUTEH Qmbe FCoTciyem [ﬂsmsu.
A)  Qeuliu wHmib 2 et F@smeiyeorid
B) Qeauu wpmb rriug FCemeiyeid
C) et §Cpmeiyenid
D) s@uGelt é’(ggrrdgsmm.
Middie Gondwana's were evolved under
A) warm and dry climate B) warm and humid climate

C) cold climate D)  very cold climate.
62. ulgue Ig ulgud Hoidr Quiesd, &G CarhssiulBarer GRDamens
Qeren@ sflurer el omwus Campsd :

utgue I uligue IO
a) dgrev-Ganl daD Helldrefin : l.. ein&Qrr &l emenedt
b) eassdlefls Galldtalln | 2. rCasremerl
¢  urdflaOis’ g é Galdteiln 3. SerediGur denren
d) OQuellCraysr Hadlesen 4, eousmL.
GHlSRsear :
a b c d
A) 1 3 1
B) 2 1 4 3
C) 4 1 3
D 3 4 2 1
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- Match List I correctly with List II and select your answer using the codes given

below :
a)

b)

c)

d)
Codes :
a
A1
B 2
€} 4
D 3

List I
Cross-hatched twinning
Cyclic twinning
Polysynthetic twinning

Penetration twins

b c d
2 3 a4
1 4 3
2 1 3
4 2 1.

ol

List II
MiCro_cline
Aragonite
Plagioclase

Pyrite.

-~

63. ulgué Ig ulgue He o ar QurEpsdl, £Cp Gar@ssiu Qerer &Niihaames

Qarau® sflurer ale owg CarbOsd -

a)
b)
9
d)
eoipser :
a
Ay 3
‘B 4
Ct 2
D} 1

ulCiqwéo I
PSS B 1.
BlewrhisT o m 2.
SlemewT M) 3.
2,DDI% Heurtey 4.

b c d

2 1 4

3 2 1

1 3 4

2 3 4

ulywe IT
HOUDTE G\ameroiey
dlemen )
wiyddlenen auigafeores

sy WL GHled g ybu smiigenid.

[ Turn over
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Match List I correctly with List IT and select your answer using the codes given

below :
List I List II
a) Consequent stream 1. Misfit
b) Insequent strealﬁ 2. Tributary
¢) Subsequent stream | 3. Dendritic
d) River capture 4, Initial slope of the ground.
Codes :

A) 3 2 1 4

B) 4 3 2 1

C) 2 1 3 4

D) 1 2 3 4.
64. Guruméles Gmé]méo Sl Loy

A)  ALSIO, B) Al,(Si0,) (OH },
C) A12(5104) (OH,F ]}, D) Al,Si,0,:

The chemical composition of tqpaz is

A)  AlSI0, | B) A12{8104) (OH ),
C) A12(5104) {OH,F ), D) Al Si,0,.

(1510
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66.

67.

29 ~ upce
@rrelaie sigar seraid
A 56 Gobe 6 ey B) 46 @obs 5 ey
C) 706 @wrg 7-5 cusny D) 55 e @uwhs 65 cusnyg.
_Thé hardness of tourmaline is |
A 5106 B) 4to5
C) 70to 7-5 D} 55to6'5

Spsa oL cupper sflurs QUIGESSLLLL S g ?

A} sppburep Guedle allerer Glemeians el — A amritaf

B) &6l ercvoraenn —'—‘ 2_(HLrHw LTenpa s

c) SYPHLITIDSHEEN CUEHSHLILITLIG LI —  S.J, gregor(® whHoub
' A. Gamrévipev

D) aprrefler mrr@u@g.s'\) LIL el —  N.L. uwet.

Which one of the following is correctly matched ?

A)  The reaction principle in igneous petrology — A Harkar

Bi Niggli values — Mctarhorphjc rocks

C)  The classification of igneous rocks '— S.J. Shand and A. Holmes
D)  Harker's variation dlagrams — N.L. Bowe.n..

CLrGeor sl L srdeslnenha Capudsd Caflu 2 gaeus
A)  geflverpey Gamemrid
B) @sﬂtﬂme‘u G D

C) Garfiwes sni’ H QurmL e ppeuid Hipbd FHOIHN

D) dipd whpbd 2 (Beud.
The easiest method to distinguish dolomite from calcite is by

A) extinction angle B) optic sign

C)  staining technique D) colour and form.

| x[1919] | | Turn over
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68.

69,

R Teuf e 68T Lug euhdhel CHmetpd smiyesoid

Al pilaclldr soarsadlGhg HTomL LGRS 2GBTS
B) @ps el araams’ seaflod ugsrgd Gurg

C) eossdla adyb Bir BT OGOl g swréGb Curg

D) QeuliupT seralel®mhE Greensl LLHLTGD CuTE.
Travertine deposits are formed by’

A)  deposition of calcite from springs of rivers

B) crystal'lisanon of calcite in deep sea

él crystallisation of calcite by dripping water in caves

D)  crystallisation of calcite by hydrothermal solutions.

uliqué I uligud I 2 L dt Quresdl, £C)p Qar@éaiul Hefrer @gﬂuﬁ'@ameﬁé
Qenam® sflurs afen _emwd (Bgmj,Qg,@

uLliquwes I . ‘uigwé I
a)  uréesi 1. Al,0,.H,0
b}  duemsl 2. | Al,0,.H,O
¢ Gurdlenwo 3. A,0,.3H,0
d) e wevGurt 4. A, 0,.2H,0.

Gold@ser :

A) 3 2 1 4

B) 1- 2 4 3

DD 1 2 3 4
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Match List I correctly with List II and select your answer using the codes given

below :
List 1 List II
a) Bauxite - : 1. Al,0,.H,0
b) Gibbsile 2. Al,0,.H,0
o Bohemitc 3. Al,0,.3H,0
d) Diaspore 4. Al,0,.2H,0.
Codes :

A3 2 1 4
B) 1 2 4 3
c) 4 3 2 1
D} 1 2 3 4
70. &.’Gp Qa&n@é‘a&,uuL@eﬁm@m&@eﬁ @ w el e 65 SOLUYDL LD
Qeaueluupssdog 2 '
A)  3AP, 1, ewuwb Géee B) 3 AP, 3A,, evowid

C} 3 AP 3A;, ovwub Gieown D) 6AP, 1A, . ewuwid.
Which of the following is the symmetry exhibited by tourmaline ?
A) 3 AP, 11! necentre B) 3AP 3A 5 » centre
C) 3 AP, 3A 4, no centre D) 6 AP, 1A, centre.

71. sl @urer abassfle wpdley cugleurarg Netaumn Sienald Bjemowb

A) 70 - 140 8.8)/Q5 .5 2 - B)  50-704dA/GQe.f 2
C) 140 - 200 £./Qe .16 2 D} 50- 140 H.H/Ge.f 2
The sheé.r strength of most common building stones lies between
A) 70-140kg/cm? B} 50-70kg/cm 2
€} 140 -200 kg/cm 2 D)  50- 140 kg/cm 2,

x[1910] ,' : { Turn over
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72.

73.

d\e&rm@mm@ﬁ)@sﬁ 2hn) cuctorphugey seflvmsellss fdpuubenrs ag SEwdpg 2
A) diwnen | B) s@s &u}a-rrﬁg;s&rmw

C) 2wt guuL g | D) @eme seoatGHd.

mch of the following forms the characteristic proper@y of a placer mineral ?

A) - Durability ' B)  High hardness

C)  High specific gravity D) Al of these.
Sesraumid sappisener seuengdle Carers ;
L Siwl LTeD GlLmh FieeTaemTey i g

. euoel utenp &y LHID S0 HeTeayeTer FSeTsHaTreratg, Goeyb
Sjeal URes Qemg s wHHIb Gogrurapseid sraiuGapg.

. sueael. urep QUTEHMTS QP SLUTEODS Qgsﬁﬁaﬂé\) sTaTlubSng.

V. seel urep eGar gearCurortils pen seoiou & Gding.

@eubpiet :
A)  Twl@ed sfurerg B) I whgd IV sflurereney
C) L I wppd IH efuraree D) swardgh sflurarene.

Consider the following statements :
1. The rock aplite shows coarse grained nature.

II.  The rock aplite is fine grained, equigranular and found in veins and
dykes.

III.  Aplite rockrls genefally found in batholiths.
IV.  Aplite rock shows allotriomorphic texture. |
Of these statements :
A) I alone is correct ! B) 1I and IV are correct

C) L 1l and 1l are correct : D)  all are correct.

x{ 1910 | |
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suufloraorapeirar sefvhsst Behs uren Sewinllsr Guurt
A)  opGeursny : . B) ﬂgﬁ@j@&)ﬂd\) '

C) B &eT-cmpe D} HSlenevé.

The structure in which there is predominance of equidimensional mineral is

called
A) Gneissbsé - B} Granulose
C)  Augen-gneiss D) Fissile.

utgued I ulgud I Quiesd, £Op Qar@ésliicerer GHipsamens

Qanrao® eflurea aloswud Catha® :

' un'.sthuéu I - wigwé I

a) Mt syeney 1. yelée siperowllgieer Garel
b)  Qesueurl 2. e aﬁﬁqﬂls&r s@w

c)  GnEHG DG - 3. Cuprguflgd

d OGurepai( Heogoue g 4 Sy psefletn cuaneey.

@gﬁuf@assﬂ :

B 1 2 3 4

D) 3 4 1 2

-+ x[1910] [ Turn over
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Match List I correctly with List II and select your answer using the codes given

below :
List 1 . ListIX
a) | Richtef scale : ~ 1. Nearest planet to the earth
b} Mars 2. Intensity ;>f earthquake
c) Ox-bow lakes N 3. E:d'ol.tﬁtlon |
d)  Spheroidal weathering 4. Meandering of the rivers.
Codes :

A 2 1 | 4 3
B} 1 2 3 4
C) 4 3 2 1
D) 3 4 1 2.

76. dpseco_eupper ag eflures Gurehpaiidme ?

A)  Gurermfren _ —  ypdder gaerser
B) Gyradl GueniL af -- . Ql‘_@t;urrmrpasdr

C) Csbenv @egest —  wease égi_d'tj;g, oy
D}  emgrligéeiv — 2, ®b asd)asd;r.

Which one of the following is not correctly matched ?

A)  Ponors — | Shallow holes

B)] Roche mountonees — ° Sheep rocks

C)  Kames terraces — Island of mouritalns
D}  Erratics .—- Rocking stones.

x[ 1910
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77. HQudenCurt safllohser, Qm&ué\mmuﬂé& e eer BT g alCuratpeupmienme
Heovgapid Cury 2 &L reug

A) Qeusiremend seflnedon B) @(BemﬁsmgL
C)  Afsen D) @ SaIHEID. -

The resultant product, when 'felds_pars are altered by the action-of steam and
other vapours, is

A) Kaolin B) Chlorite

C) Griesen D}  All of these.

78.. % unsidle oGy Grie wgleer Gbs HNés TEOTHT RHs LYW
penbd, e

A)  sfidléveor ugaid

B) eouwupes 588 Gderon

Q) @QuéursaCe QeusliiL@n enow ose:
D) Qeappst ergapfideame.

If in a crystal an even fold axis of symmetry is perj)endicular to a plane of
symmetry, then ‘

A}  the crystal is imperfect
ﬁ) ‘a centre of symmetry will not be present
C)  a centre of symmetry automatically arises
D)  none of these. |
79. ams&ra@@mmbm‘rﬁ\d’: LiG&D Semwliyser Clubnysieng .
Al s SeLLLEILW gsﬁtb L (Hib
B)  ewu ewiyeLw gembd L (b
C) s SoLULEDLW D, W SeowlyeLw genb @)eneoorhgieieres

D) 68 SowlyemL Lo SiONG DL B{EIDUILIEIL WFIDEIEY .

I F 744-_| x[1810] | | { Turn over
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Enantiomorphic crystal forms possess
A}  only a plane of symmetry
B) only a centre of symmetry
C} both a plane and a centre of symmetry
D)  neither a plane ndr a centre of symmetry.
80. yeailen symed PYR T '
A} 5.5 dlgmod / 8.8, Bl 6.5dgmd / H.4.
C}  4.5d&gmd / §.8. | D) 3.5 d&gmo / .4,
The average density of the earth s
A) 5-5 grams / c.c. B} 65 grams / c.c.
C) 4.5 grams [/ c.c. - D) 3-5 grams / c.c.
81. Ganco el urepsdid el giur
A) BT E@TE B} uneingéBsedl
C) e gyt D) &llsreliuligeworb.
The type area for Khondalites is
A)  Kurnool B}  Pondicherry
.C)  Udaipur | D}  Vishakhapatnam.
82. QGareoBeurenrt uTenp SHHSH0 et FCarayeand GHS@GD UTEDSET ?
Al Lresdlt urtQuaged
Bl  Lmasdlt wpgid srepst umtGuayes
C)  Lresdit whoibd lurr@&t urfrGoeyest
D) grghoere urtGueaye.
In the Gondwana sequence, evidence of cold climate is obtained ffom
A} Talcher formation B) Talchér and Damodar formations

C}  Talcher and Panchet formations D) Rajmahal formations.

x{1910] ] 19000 |
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84.

85.

37
gpseaiabpen sflurs QuTrEssLg ag 1

Al éﬂrﬂug}ga;ssﬁaam Q@ et sfiﬂlosm@ LT — - BjemeL.
E St g ] B

;

ubeE:

B) &gpuren samavimgullens urapse —_— ;;;maﬁ]qm&t.;dﬁ'_édu@a_rrebr

C) QJTGUGT Gurresip erfloemes LTedN — i ey Augeud

Lt

D) QgrissBlee Lgeubiger — - owslrreownl.

Find out the correct match :

A} Fine grained volcanic rock . - — . Aplite

B)  Pure glassy rocks ' | - — . Obsidian, pitchstone

C)  Columnar basalt . — Cone shaped
i o CAW Gy e _

D} Embryonlc crystals, o — . Migcrolités.

L{@QLDL_I_QS]GUT T 86 &@g@ aueyl

A) 500 — 2500 B) 200 -- 2000 .

) 1500—3500 . D). 1000 —2500.
Uniaxial . ngpressive strength of bluc metal rangcs frorn ‘ 5
A) 500,_.—-2‘500 B) " 200%- 2,@000

Q) 1500 ——— 3500 D] 100'0;.——— 2500.

fobs Ceneils &Urﬁié @mmuﬂé LEHCaHD & g @g@d@gwa@r Gt
A)  ueut.Goyrteucy : B) lg@g&»smeoasr %

C) ‘Gaﬁéﬁ_ﬁfg@g;gm , | D) @mé:xi aimwrﬂsglm
Which of the fc;ll,'owing is the loading machine in open cast mining ?
A) Powcr shovel B) Drag line-,

C) Landdredges D) Allofithese. -

=
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86. ods oena| CkugggaTens CETITTL L aTanlige 2 arer apsdiu meﬂQurr@mrrsur
apl Crréleflefler Qaugwnhs swomale Sdaraumpd aldlsrésrypans QUbN®mEHED
A) 35% B) 75%
C)] 65% D}  50%.

High explosives like dynamite contain nitroglycerine as a chief component with
the following percentages which of in the explosive mixture ?

A 35% o B) . 75%
C} 65% D} 50%.
787. 2bsrosligs ( saefl ) o drer Howgs aflusdé ssaisn
A)  95% - B) SO%
Q) 75% D) 60%.
The fixed carbon amount of anthracite is
A) 95% B) 80%
C) 75% D) - 60%
88. @hdluraié Hlegdlesr Lﬁ’i\@&@fn et QlemTl) HEUD @mﬁ)ma QUMY EUWed
A) L_Tibéis _ B) &THBTIT
C) aq:ﬂ&:@me’mmt’r ‘ . D) wmisGu oan.
The Jargest on land oil and gas field in india is
A) Damgn B) Gandhar -
C)  Ankleshwar 'D) Bombay High.
89. &6 by aeuauens 2 BuThnsdlatrd ghuRdpg
A) sl dletreugd o morhpid - Bl Cué siupss e-GurHpb
C) Qalu-Buds 2 BLIHDD D} %gprﬂmm 2. (BT HDD.
Augen-gnetss is produced by |
A}  cataclastic metamorphism . | B) load metamorphism

C) dynamothermal metamorphism D) plutonic metémorphlsm.

x[§910] |
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92.

39 | . UDGE
2_moTHPL urenpd GereLilemear alletd@h snhp/se
A) 5D LGBOIHDL UTeDssT SewhHlmULg
B} Gy fyren Qeulu Supdsdion
C) @Gu s safinhiseflel sal.L ey
D).' Elesu SRS EID.
The characteristic feature{s) of metamorphic facies is/are
A) association of simnilar metamorphic rocks
B) same pressure and tempera'ture conditions

C) standard set of minerals

D)  all of these.

£, Gurgren wpgd yesfer Curépandler Gersamsurd ErudlalGessr

- Qewdunlger srpemors Grosdiefiord QualGubplull safvn

A @euriiey B  Quacewurt
C) aepnien Serair® D) oowseT

Tourmalinisation fs due to the combined action of water, boron and fluorine, by
which the mineral replaced by tourmaline is

A)  quartz | ' B) feldspar

C)  hornblende D) mica.
srterasl, ahs e.@mowTHpL urapd Qareglullaears snitbsg 2
A asemal - B) dfedlev

Cl dlyrgeel f)) SDINCLTemeoL .
Chamocldte belongs to ;he facies |

A} eclogite _ B) green schist

C)  granulite D}  amphibolite.
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93, Fe*30arcupb snien s gearfle sreriu@ib

A) L@yl B) = duwcmeni e
C) @yraert D) @eniget.
Fe*3is found in which one of the following gamct§ ?

A)  Pyrope B) Almandine

C) Grossglar D) Andradite.

94, q5Culys iy QuTgars SraRTiLBag)

A)  Quéwer L Hseféd _ , B) Slenel [Haehe
C  BévorGosid , D) Agreren Geeiié.
Ptygmatic folding is usually found in

A)  pegmatites ' ' B}  aplites

C) migmatltes; D) granites.

95. wliguéd Igp ulgue Heidé Qurpsd), SCp Cer@ssiu@erar GHliReemens
© Qarao@ sflurer allL ewg Caiboa® _
uCgwe I ucque I

a) wélarameul 1. sen_muTdsgeng el
@opeuren gefafeuse
PG & etor
b} enuCumrenL - 2. dgdurer waafdlun a5g
c) yGemrGaremur l 3. fowpeier ey GoODHS
| PDib Qe oL enps &
d QelGLraer. - .. 4. Hgduren
' GeNCur@Cymdilan.
efldPsear :

a b c d

A) 2 3 4 1

C) 3 4 2 1
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Match List I correctly with List II and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
a5 2
B} 1
) 3
o 2

List I -

Muscovite
Biotite
IPhlogopitc
Lepidolite
b c
3 4
3 4
_ 4 2
4 3

1

1.

List IT

.Reﬁ'active index less than Canada balsam

2. High magnesium content
3. - 'Colourless or pale coloured

4, Stony pleochroism.

96. ' Seteumin smpryselleh 2 coeLLTETEE EFrane ?

L.

I1.

II1.

@\eubmper :

A) M whpid IV sflureteney

. C} Vol @b sfluretg

- aflveoe Qerflad aarp GQuutr afivee Gpbllare 2 @Geaurear

urenmaefes aumy QeuelCuiiiy gemeraamme LT UTEWEES LbSS.

gflvema Qernfladelld ary QaelGuilu geersearre HFls

o T et ena g HHId GpkeEDD UD Senwllign o eferer,

afivme Gerflawelle wry OCaellCuflu goasarad do

o adoremiéemalland wHOID obaTeT LD Sjemnliligb o ereres.

erfloame Gerfladiells amy QeaelCuilu gemeeenTes @eurmic ey wHEb

srevensl () L hgeTere.

B) Tupgid Hesfureree

D} syomarpgid sflureareneu.

[ Turn over
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- .97.

98.

99.

~ Consider the following statements :

1. The name scoria is applied to rocks formed by léva in which gas
cavities are prevalent.-

Il In scoria, gas cavities are numerous and in frregular shape.
HI. In scoria, gas cavities are few and regular in shape. |
IV.  In the gas cavities of scoria, quartz and calcite haye filled.

Of these statements : ' |

A) Il and IV are correct B) 1and Il are correct

C} IV alone is correct D) allare correct.

SBPHTLg St CaCluer epav UTeny 2 e mmmﬁ,@pm.d‘éé]

A fedf vos B ugpsu’ﬂ a6

C) Gafreugrues wene D) @Gmm S| NBHHID.

Archaeg.n gneisses in Tarnil Nadu occur in .-

A} Nilgri hills B) Palani hills

C}) Shevaroy hills | D} Al of these.

dpsacn seflotege Lbms Hpd Qaran seflvid ag 7

Al  sleamengl . : : Bl qprtemileree

C] sasl ‘ D) @eneu Semengib.

Which of the foHdudng' minerals shéws green colour in hand specimen ?
A)  Chlorite ~ B) Hornblende ‘
C)  Augite ) D) _l All of these.

@\ Wifley Conaor@euren aueneULTL Ll SerupPueut 7

A) geLlengb B smd#

C)  Joumsev ' | D) @eneu SjenenBHgb.
The two foid classtfication of Gondwana was adopted by

A) Oldham B) Cotter

C) Fox ' ’ | D} Al of these. .

x[1910]
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100. Jettaumpd smppisener seuatgdle Gamers :

101.

L srenfenaigd B gpessag 2 sieig)
I gyfrenlenaor. siflgwrear NeflGurgCyriled Qameam@ereng
M. giefenaon e gorlu uropseis Gupiudme.

V. gyiénfenaon - sgarggatown 6 Nmha 7 o,

@Glﬂj?@]d! :
A} 1ot @i sfureng B) - lw @b sfurerg.
C) 1w’ @b &fﬂmnagra ' D) lwppd I sfurerae

Consider the following statements :
L qunb}endé contains water m.o!ecule"m its composition
. Hornblende exhibits stony bleochrolsm
~IIIl.  Hornblende is not found in metamorphic rocks
IV. The hardness of hornblende raﬁges from6to 7.
Of these statémenté : |
A)  lalone is correct B) Il aloneis correct
C} Il aloneis cofrect ' D} 1 and-.lllarerqoxrect.

QpliGeued Liapuiy Hlavsadl Lig ey afflest gaﬁ]msmmu@u._ld\) Qg

©A) CuedlQuir GCuwm Hlebr B) @ GCurdies

Q)  aowlurlererGurdler | D) ewCuréer.
The geological age of the Neyveii Lignite deposit is
A) Paleo-Eocene B) Eocene -

C} . Mio-Pliocene D) Miocene.

x[ 1910] : 19000 |
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102, enugrédle safivgdlar Ll et wailleér @enludl L Garemb
A 126° wppib 54° | ' B)  93° wppid 87°
C)  90° D)  20° whpup 160°.
’fhe prism.atic faces of pyroxenes are characterised by {an) angle(s; of
A} 1267 and ba® B) 93°and 87°
C) a0° D) 20° and 160°.
103. Sléeumib snpmseen seuepdler Qamsis :
E GeuGLegl. udaiamen Caunyur® &.rrm’miﬁ]&@tﬁ
. GauGLrerl urdlflbgysd @rlgly sraoiéob.
L GeiBLrmengy. urdveuetoremar gpafliey Glairetor gl

V. GeuGLmenyl LmfLmit @rliglny sraomiéen.

Qreuppyet :
A) lTwl@b sflurerg B) Iwhmb I eflurersmey
C) L Nwpmd T efuresreneu D) o’ @i eflwreng

Consider the following statements :
L Labradorite typically exhibits play of colours
II. Labradorite e:chiblfs polysynthetic twinning
IlI. Labradorite exhibits opaléscence
IV. Labradorite exhibits tartar twinning.

Of these statements :

A) I alone is correct B) Iand II ére correct

C) I. Il and Il are correct D) II alone is correct.

o
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104. @@ urepurelg srassd ol GL shy OsTLHMTG GNGEG COBESHTE
Gesteniiu. @ GYBheTed HEDG ....vv..... e eresTy G,
A)  s&mdGurdll sphg Cemgeel
B) saueoiny aldame Guretp Glamyg el
C}  dumé gpté |
D}  Q@eaburl Gamgser.
A mass of rock is traversed by a network of small ore bearing veins called _
- A} Composite veins B} Lenticular veins
C)  Stock work D) Chambered veins.
105, -LSIG&TG;J@meung)@jsfr 2_CHOTIDWT 6T Fapmshell WTeneu ?
Al wroule wm@@eusssile g safl m@nae e Cgredlame Gamam
ureniserts Nflbgerenes
B) . wrpull sm@eadsedr yalldifiy ugsd med 2 GeuTaae ey
QeflutiLGsadng:
C) uwrIpULL RGOS LUeMsLULL hoLpoplld® 2 Gouraimes e
sremieding
D) Blereu SRS EID.
Which of the following statement(s) is/ are correct ?

Al In differentiated intrusions, a single intrusion results in contrasted
composition of layers

B) Differentiated intrusions reveal the process of gravity settling
C) Differentiated intrusions exhibit process of differentiation
D)  All of these,
106, 46e0C s DD GUUTEE shoup aefsCua. Geuduop &gy
BLg&ESUUL[H 2 eheTg ?
A} PHessy B LD e B) shy hessy B wlgder £
C) espm Hessy Brol L she Goée D) @mtj)@eﬁ 1 ey dlevenan.
Zone of oxidation in supergene sulphide enrichment process extends
A)  up to water table B) | . ju;.st below the water table

C}  just above the water table D}  none of these.

. x[1810] [ Turn ovef
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107. euenfle Fhlurs aarrmﬁu@lb 2 LUUL T urenmeeflet 2 gy emnd
A)  Gsmgud @CemreyG B) gusd
C) Ouriimey 2 Ly D} @ BiemerSE .
Commercial deposits of evaporite minerals may consist of
A) SOdiUHll chlo_rid.e ' B) gypsum
C)  potash salt - D all of these.
108. geonhs @mrr;‘n_'_eiu saflosQedley e eter urapsefle erreu’zsrL s el ef
Syeonbdmsdleipes
A) | 2 edlalle, gy emamel. wHnd GLigeusTiH
B)  LLs&5®, 27 5Cardlenmen wHpD ﬂ@mé\@mn@mw_s’m |
0 uGureLL, wdu@e,rrmmf_‘ mxj)@m HITEoL.
D) o, apridnderain) wihpib eapufdude.

In undersaturated rocks which of the following minerals of low silication are
found ? .

A} Olivine, analcite and feldspathoids
B}  Quartz, orthoclase ana plagioclase
C) Biotite, muscovite and garnet
D) Tourmaline, hornblende and hyporsthgne.
109. ghsid edlés 2 clrengl 1
4) Gameuntt Hleuvl | | B) o9l edlenl
C) @Gmﬁa‘u@u{_ dlreneorL. D) (A uhpd (B) GyeoiGio.
Gold occurs in
A). Kola‘r schist ~ .B) . Hutti schist

C) Closepet granite - D} Both (A) and (B).

x[1910] . 19030
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110. ‘G_urrso‘msc‘ns;r’ adrp Qerd aps 2 CanapCar® srihas
A s B) smfyi
C} @®by D} uvrasals.
The term ‘Bonanza’ is associated with
4a) ‘ gold o | | B) copper
C)  iron D) imanganese.
111. dpaacon_oupper g Fu safliod e |
| .A} a;sﬂsﬁrr _ B) %ﬂéémau
| C)  evGuwenyL | A -_ ' ' D) G\&@s&)ea'_.
Which one of the foﬂoﬁng is not a l_ead mineral ? |
A)  Galena ' _ _ B} Anglesite
< . Sphalt_:rite - D) Cerrusite.
112, ehs LT uigeuld Sy wCymer 2 e E,TTlGUUTL:JU'G-)é-n[Dg] ?
A} sderul. B) undu@uﬁ
C)  amiu@ers | | D) si&eenu@.
 Which of the following deposits are commonly associated w1th fumaroles ?
A} Sulphides B)  Phosphates
C) éarbonate‘s _ D) Oxides.

113. eapofleowridlé mpomaravilie Qu@earflurear sallvhse ddaucnd ugs
SiemwliNe GYméeD

A)  Blgworer uqa:@ml;m augeuemwuy B} ) vgspenLw m.!tq.msmmuq
o I uﬁlmnmﬁs‘né\mg Qﬁ}&: cugeuemnoly D)  gleon. Gurenp ouigeuemoly.
In the hyplcilomorphlc éexture, most of the constituent minerals are
‘A) subhe;lral in shape | . B} euhedralin sl‘_;gpe;

C) anhedral iﬁ sh_ap-e _ D) tabular in shape. |

«[i10] ( Turn over
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114. fpsseaeipner sflurs QUTGSSLLCL & ag 2

A)
B)
C)

D)

Q@TL(BD i mysHeT
Setreu@md ymisel
Ben s h@eueo’ L misel

PLUAGTITL. Qe

Find out the correct match ;

A)
B)
C)

D}

115. flerQimeng é Uigeukiser LigsLTog sruCUTE) ?

A)
B}
C)

D)

Consequent streams
Subsequent streams
Insequent streams

Obsequent streams

48

S0 2 Faundhepdler oL U ugd)

QgL @b HnsGarh Gerango

‘Sniseilen Qg &b

Elemaor i Dieel.

End of the stream development -

Joining with consequent streams.

Initiaﬂon of stream development

Parallel streams.

LI ki enen STRlyeTen LTEp 2 oL MeughHE (e eTTeb

ug euiigener gradlyeter uTenp 2 @r_reugh@ Wes

L1g euQplD, UTEDID 66D &

gCaald T,

Syngenetic deposits are crystallized

A)

&

before the host rocks

simultaneously with host rocks

116. &frs\:(%arrmuml;‘rLL ahev sreILGiDg 7

A) pESGLULL6Y

C)

Guol Lmworitlé wigeulb

B}

D)

B)

D}

Chalcopyrite is characteristically found in

A)

C

placer deposit

metamorphic deposit

B)

D}

after the host rocks

any of these.

Gusrligé Q)ehs&Hea st

GLuTgdles saveou® eertléOinassn .

magmatic injection

' supergene sulphide enrichment.
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sfloeme Ledidler sT@IILED saut 2 a@mL.TED el : :

A)  sUefGueayes | B) Quégurigs Glenssaet

C) @obldlder Syeu @ehased D) @eubmist ergieydlévaney.

Sulpi’mr assoctated with volcanoes and fumaroles are formed by .....................
origin.

A} sublimation ' | B)  pegmatitic Injection

C}  immiscible liquid injection D) none of these.

BulyrdfevL dences aaip auniHend sahurerblise Veisumpn Heihomaefer

sioveud QEeran® aflaféssiupdng
Al PUHOUGID BGTOT R IGUIT SUIT 607
B) @ urab &,Goismwrrrqu.lrre\)rrsofgub LHGDTIY LTSD Lig 858 6ur 6ot G

C)  (pweugh LIy &SSTeuT e

‘D) ppsugd Gnf(Lpenest 2 (HeUEmLDLIITET Lig Sk,

The term ‘merocrystalline’ is used when igneous rock is composed of
A) wholly of glass
B)  partly of glass and partly of crystals
C)  wholly of érystals
D}  wholly of angular shape crystals.
Slebrenid au-.fj;)@;&smm souatsdla Qameirs :
L 27687 ey, GurGearmdleflails Cgreuied ugswrdps
. &maCsr flGasu gefldiue uy Srflen_wur@h
. o5Gsm &iGemélcr sTid&LT @Tiiig ity STHTIGOOIOTS &HIT6TTULEHD

V. auisCen HCwmldr geflalensd GhULE s, s Turdsshos o

odlab.
Eiaubmyet :
A Tol @b sflurerg - | By v mL'_an eflumen g
CH 1L Hobne W efluratseas - D) Tuopmo -llI sfluresteney.

x! 19@] [ 19000 : { Turn over
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Consider.the following statements :
L Orthoclase crystallizes in monoclinic system
1I.  Orthoclase is optically positive _
III. Carlsbad twinning is common in orthoclase

IV. The refractive index of ofthoclaise is more than Canada balsam.

Of these statements :

A) I alone is correct ' B) IV alone is correct.

C) l 11 and III are correct ' D) I and HI are correct.
120. dereumeusmaipper &l seiny-Ligs Ceredow Cotbgg ag 2

A) S evenul OHNID e HMBL. IG5 SHevenus el

B) o 5CsrdlGeneu bHmud LIg&H&HEH SHenasel

C) Lwrhens(® wHHD STEEVL B SIS

Dl syeflalet whpo umrs)éseﬁe'\; B VGG .

Which of the following is an ideal.mix-cxystal series ?

A)  Mixture of albite and anorthite

B)  Mixture of orthoclase and quartz

C) Mixture of diopside and enstaﬁte

D}  Mixture of olivine and quartz.
121. Spsactr_cuppet sflure QUIGSSIULLG gl ?

A FPegsg B —  BGymiL eifluy

B} wdie fleve —_ ueoﬂu.:rr@a»ei‘r '

C) vy GyribGureduer Hlemev —  Pe sfltey

D) sa@mamimiby UTenD ' —  smirevl ([ e SyemolL.

Which one of the following is correctly matched ?

A) Groundwater e Fluvial eroston

B) Mature stage v . —  Glaclers

C) Strombolian phase — Earthquake

D) Limestone - Karst topography.

x[1910]
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122. Gauritiey eLwenrqdlGhy oLuaIL & Lrpd CUTWE GeaTTLey LHDID

Qj,doaseﬂ Quevevurflet Byerey NeiTeuGorg emoyb 7

A)  40% eueoy flaflégd

Bl  uRfud aeoy gopbaeldn

0 Qarut Revedd CursgaLugts GHSGD

D) 20% @eophg @D,

From qua:tz-dioﬂte to diorite, the amount of quartz and alkali feldspar

A)  increases to 40% B}  diminishes to zero

C) maintains a steady trend D)  decreases to 20%.

123. devraupeuamcuppet sredlus Qefleysion NCerrglCurdlermey Gudsvurey Ggiey

Qels :
A ol B) & rgpCgrdlemmey

C) e Qerdlenmen : D)  e@nisesl (.

The calcic plagioclase feldspar is |

A) albite B) orthoclase -

C)  anorthoclase D}  anorthite. °

124. fphamembd urédluhsaner seued :

spp (A) : ueNwr o) ueierggréb@seiisr Carppd GnésTer U sugeugdlée
mnmﬂu@eﬁ]c&rpm.

sryemrd (R} ':uasﬂmrr;gw,aﬂsbt Sfluygdnad Suusssoes oL usseurlige
siowr &Geur aqéoeoﬁ shp SHeorela arariL@ding.

Fpbargmid Py sfurear el Ggﬁ‘ﬁ,@g@ :

A) (Al wpgd (RJ @oemn@n afl, (Bmgg'ji.b (R) sretiug) (A) a9p@ eflumes eflendeid

B) (A) wppd (R) Grea@o of, Cugid (R) eretug (A) eSbe e}flmnm ellen & 06v60

C) A &, yemmés (R gy

D) (A wbpid (R) G peun.

x[1010) | [ Turn over
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Consider the following statements :
Assertion (A) : Glacial valleys have transverse U-shaped profiles.

Reason (R): Glaciers cut their sides at an equal or faster rate than their

bases.
Now seiect your answer according to the coding scheme given below :
A) Both fA) and (R) are true an-d (R) is the correct explanation of (A)
B) Both (A) and (R} are true, but (R) is not the correct explanaﬁon of (A)
C) {(A) is true, but (R) is false'

D}  Both (A) and (R) are false.
125. Qamifl oy f$CarGLmb @Uigud aﬂmé&:ﬂu@eﬂp@ ?

A) uURESUTE Sabl eugeu L en Garyyb

B} u@éenswrer (pUULenL. 8608 ST

C) Qergsstar snby eugeal L Camygbd

D) Q&@@ignaﬂ WU L. &HGCIoTEmTTLY. . |

A hemiorthodome is also described as

A}  horizontal pyramid B)  horizontal prism

C} vertical pyramid | : D) vertical prism.
126. sflemen ev eusmaiiuga urenpulléy 2 6Ten. eUGRTL 60 Giherla Sjeney

A) g — e B B) 2.8 —64 8.8

0 288 —Lhd D Lds—3284

Arenites are made up of sediments ranging in size between

A) i%mm——%—emrn B) 2 mm — 64 mm

. 1 1
C) 2mm-——13mm ' D) ﬁmm—-—Sme.
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127. Harduring eowtleoars efléeb @eré
A) - CuaGprédlu Spws wigly B) GuaCpréadlu Gueé ups wy iy
C) | &p Crrédlu Sp e LYOY D) &P Crrédlu Gué 1ps wi L.
The other term used for a synformal structure is
A)  upward faciﬁg syncline B} upward facing anticline
Q) dqwnward faclng.syncline " D) downward facing anticline,
128. Gargmeufll ua?m,i,g,rré;éﬁdz 2_GOoTL et &L ésrra:g’@ LIT D& 6ff
‘A] seorl & fAfey B} urésd &fen
O ppedf Afey D) Sor A,
Which is the equiv;aler‘n of Cuddapah in Godavari basin ? .
A}  Kaladgi series ’ ' B}  Pakhal series
C)  Ratnagiri series D) Bhima series.
129. Spssremn eursdluiismeamen sHeuaf
as:@gy (A) : S eaell Gewemen. urenp igy ey erdy speflidlng.

srgewd (R) : Q@arnigGsrdlenmey Guevevumi seflod swaerl urendd By

blep geflitey s@mAlpg.
g@a&@m @B g & efures Y CarpOs® :
A)  (A) vpod (R Gyan(hd &f, Cueb (R} eretiug) (A) elip@ sflures .aﬂmé,&;fn
B} (A wppd (R} Gy afl, Coeud (R) ereitug (A) G)S]Ij)@. sflures alensewde
C) (A)sfl yyeiréd (R) geupy |

D) (A geurg syeormen (R) &l

x 1910 | - [ 19000 | { Turn over
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Consider the following statements :

Assertion (A) :  The shimmering lustr§ is seen in alkall syenites.

Reason (R} : Anorthoclase feldspa; in syenite imparts shimmering lustre.
Now select your answer according to the coding scheme given below :

A) Bqth (A) and (R) are true and (R) is the correct explanation of (A)

B}  Both (A) and (R) are true, but .(R) is not the correct explanation of (A)
C) (Al is true, but (R} is false

_D] {A) is false, but (R} is true.

130. dvi_né ié wHpIL CFge F LA . saflio suamaau Cofpag.
A) adQgiwen B) uetengsradies Ligg
C) FIGerevwoadm | D) @eubpet ageydcemen.
Stock works and saddle ré_efs are the typesof ............. deposits
. A)  epithermal ' B) ca\fity filling
C) replacement o D) none of these.

131. ugeuTEpUTa g LB SeTh su@u.nrfe: 2 oLy geremvows GHUIGD Gerd
A)‘  eSe Queayedt B) oGuredlCueyes
C) SatNerNeil g D)  euslleupp gerdisel.
The ability of sediment;\ry. rocks to split along the bedding planes is called
A)  lineation | B) follation-‘

C}  fissility D) weak planes.

x[1910]
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132. ugsd asug Blopu QUG GS emgmuuguqm_wmm;aﬂé: ledteum eueot subileés

aeneu ?

A werp g6 selifigid whpb Hp whpealiie

Bl b 6 seiidigud whpb g,rreét@ whHoeneudlés

O Guend oo sieciiigd LHpd g whpoauie

D) @reupmyetr argablévemen.

A crystal méy have as many as nine i)lanes of symmetry, out of which
A) 3 are of one set and 6 of another

B) 5 are of one set and 4 of another

C) 2 are of one set and 7 of another

D) none of these.

133. Qetdl vy Bpgesl Gure faniy saflvdgser HpD 2L seaflod
A} sndGarenuenri B)  adlarr

C) vl D) wréetenil.
Cherry-red streak is shown by the mineral, known as
. A} chalcopyrite B) galena

C)  hematite D)  magnetite.

134. greurfld 2 eiren Fwid wHED SSsHTHSSET CHTHDD
A) Qs&rﬁhggc;uﬂqés HyTae B} © AVGeneniGuoedo yyresy
C) GelLegGsaysd yrresy D) edQgetigs yymsen.
The origin of Zawor lead and zinc deposits is
A}  syngenetic process B) replacement process

C}  laterization process D)  epigenetic process.

' x[19i0] | { Turn over
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135. Gy e eauEUysda 2 dren Gared Ndataumaaaubpper abhs Comguléa

Qubdimsaaildane 2
A g sml Ggred
B) s&eat sggh

C) mraGsrewid

D) oo sml Qgrgd

Which of the following pairs do

system ?

A) Monoclinic
B} Cube

C) Tetragonal

D) Monoclinic

Qeciauss QTE:d
'(g)e'ﬁ(Be,rrcmb
SynrksG o517 eooTid
wpéemuliaTGd.

not have the same number of classes in the

Orthorhombic
Trigonal
"Hexagonal

Triclinic.

136. Cprengl., CauCrm whHnpib Herislarensl LTanpseiies sT@IILED G GUT HiouTe

gt wrbligeotidy
A) TGOS
Q) Omeder

B) eoulGLmehement

D) GeugrLeoyl.

A common mineral found in norite, gabbro and anorthosite is

' A) anorthite

C) nepheline

B) bytownite

- D) labradorite.

137. @engsdeutiy-uéens Hp CeNGurgCymilev sramiilégn seafiob

A) eTedTerIL eI

C) @twellen

B) evantiurevdle

D) S G,

The characteristic colours from pink to green pleochroism is shown by the

mineral
A) enstatite

C) tourmaline

x! 1910 |

B} hypersthene

D) augite.

19000 |
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Qgadler swag widlL adp Qsre Hdaued spbusn vedl eapye

gL LWE 7

A)  Gurr® whpid Geveurt B) emioure S eursay
| C) oriicure figfligns _ . D) apflesr sss)msuﬂril.
The term ‘Jenkin or split’ is associated with which of the following mining
" methods ? .
A) Board and pillar -B)  Long wall advancing
C) Long inall retreating D) Horizoen mining,

Alesteum susmeuppuelr gaipres aapenp Coirs :
A soLsden paite QLU ety aflasaiL@hng
B) -~ seoigdlett patay suellp® Geugert eretucurmer allersbatiu@dpg

C) oo jdley patey T Caprbev aa@TUMTTR: aletdelLGAns

D) sangdler perey M.S. dEeyamiean aatuairme alanhaliu@alpg.

140.

[1910] [ Turn over

From the following, choose the incorrect statement :

A) Continental drift is e};:plained by Taylor

B)  Continental drift is explained by Alfred Wagener

C) Contjnentaj drift is explained by Arthur Holmes

D) . Continental drift is explained by M.S. Krishnan.

d]cf;rm@mmcuﬂ)@sﬁ sflurer sapeon Coia :

A) . ueveums QuUT@mHL Sei &:G\)é:&:L'JLJL'-L... uresm 2e(HEURSHET LIGEUENS UTenD
Gpbuseilet Qgr@dser Qa-srmdm_msu

3) vesuens QurEpLest sebslullL utep sm@Eauasst oGp @ngm

' samalueney

C) Uaa@s QUIEL S BasslLLL LT sa@nHesnse CanulL Crriseis
snRmeadiueneu ‘

D) uwmeimse OQurplseda &sea&slulL urop (Gadsest Frmen

Ogr@disermeareaney.
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Which one of the statements is correct ?
A) The composite mtrus;ons show different magmatic compositions
B) The composite intrusions intrude simultaneously
C) The composite iﬁtruslons intrude at different times
D) The composite intl_'usions show uniform composition.
141. @pgluralgeien BlelCuflu flossfls arhsd
A) GQpiGeued B} Qurréaarr@qn;
C) eoflur _. - D) @uraflagys.
The biggest coal mine in India is
| A) Neyveli B) Bokaro _
C) Jharia D) Ranigunj. ..

142. Spgeaurea uge oo UL, g8y arpl Qreet Gamreliiy méjqé,a;baadr @Gq'
cuflena s LFsbaiu’ B GEherd Sibe e e gfléd gienend@d Geusb

A) 1 -3 3 /e _ B) 3-7 34 /weawl
Q) 7-10sy /wes D) 10-12 sy / weh.

If diamond drill bits having soft formation bit with single row of 1 carat regulgr
quality diamonds per rib, it can penetrate

A) 1 - 3 feet per hour _ B) 3 -7 feet per hour

C) 7 - 10 feet per hour D} 10 - 12 feet per hour.
143. Bog gieet @ebLSsTs HoLs@b GLb

A vsgdu Sg@ged _ B) gfleor

C) tiwrr‘r o D) Gameur.

The ﬁlue dust iron ore gccurs in

A) Madﬁya Pradesh | . B) | Orissa

C) Bihar D) Goa.

x[1610] |
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144, saidy eugeu uel CaTUD @reTUS GO sugaud JAFEUDLW &b auCurgid adlé
. Qe Llu@dlpg 7

A) a- |55 o B) b-3i&&
C)  c-obs D) g smearggib.
A pyramid is described as a form whose face always cﬁts through
A) a-axis B) b-axis
Q) caxis o D) all of these.
145. 2 difler cuemsls uqqﬂunmptﬁ]t‘ﬁ e s
A) um;pﬂurrsgng) B) &cioremsiTidy LITERD
C) Gumaoeownl urep D} seflweo uTrenp.
An organic deposit of sedimentary origin is
A)  coral reef - B) limestone
C)  dolomite D) mudstone.
146. ‘srafldu i adnp Clemed ahg aemsl utapaws GHLLIGADE 7
Al  wemipUTenD B) &demnfoq LT emD
- Q) i;FrG\)GU)LDl'_ LI 6D ‘ D) @mm’n_;mam'_.
The term ‘Ganister’ is used for pure variety of
A) sandstone | B) limestone
C) dolomite Dj | quartzite.
147, Gruweufluen sarev srerguin UGes&Galuciien ngrj:ipfo
4A) Gafllwe srrbag B) afpugaleiméd 2 meumeug
Cl et cuenss Garbpd D) dlemmeuy s euemss Camhph.
‘Radiolarian oozes' are deposits of
A)  chemical origin B) precipitation

C)  organic origin _ D) clastic origin.

x[ 1910 | [ 19000 ) A [ Turm over
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148. £psecnauppet sfure QUIESSILCL G o 1

. A) & BT BT DS STED IS — &
B) @\mbussrg erihg —  &OTemoTTDY UTemD
C) Gigedlflwey ~ LUNTLLID 2engen
D) aflouQur@s snths —  uré @@qugg,rrg.
Which one of the following is correctly matched ?
A) Calcareous - Peat )
B}  Ferruginous —  Limestones
C) Siliceous —  Diatom cozes
D) Carbonaceous —  Bog iron ores.

149. @rj)g. 230 cuenassh 2 diien Jwlysen Gusaars Oflbe g & apaame
UGBS HSODULDL WU LI SRS 2 cieng ?
A) 14 ' B) 30
C) 32 | D) 33.

The 230 types of structures can be grouped under how many classes of
symmetry of the crystals ?

A 14 B). 30
C) 32 ' . D) 33.

150. s Qunpefies seor SEenelbGd 2w syTef HaTHHHED 2 sien Qg,rr@r‘m
A) Qurmefles &m.gqércq = gyiref) seooid X LweTU@D Gl Sdlesr LTlenay
B}  &gref S = LweTUGD G- Fdles upliveney x CurwelleT &ersiemey
C) uwweu@b @ sder uTluerey = Qurr(r_r;a?:&n seTjeney X syTafl seoorid
D) @eubpst saapbidee.
What is the relationship between volume of the material and average thickness ?
Al Voluﬁe of the material = Average thickness x Area of influence
‘B)  Average thickness = Area of influence x Volume of the mateﬁa]
C}  Area of influence = Volume of the material x Average thickness

D) None of these,
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151. suemeney Gar@ser aped -Qpefllaursaiul Qeien e Gealltédlurgd uranp
@pbrsefle, ugstiset 2 Gargb Cluliublee ugHles Cuwri

A) Geoud ugd B yoLsgé ugd
C) deewrar ugd D) wrpull ugd.

In the curves illustrating supercooling of magmas, the temperature region in
which the generation of crystals is slow, are called

A) labile region . - B) eutectic region

Q) st‘able region D) metastable region.

152. aGLT b siédle Fereums sTLGHDS! g@eﬁrmﬂ;\) @& Ly sLTED CgmEd
A) Gssuaus @g,n@ﬁ\ | B) & sTh Ogngd |
C) ey smd Qg;rr(gggl D) preng emi an@é\.
Epidote shows an elongation along b-axis because it crystallizes in
A} orthorhombic system B)  monoclinic system
C) triclinic system D) tetragonal system.

153. yediflesr Culertigd Qeueflt @mﬁunm@a@é;@& SLTfol UTEDSHEHHSD

Gl Cuiysier arevemand: Camlighel Gluw

A) Camesiyn (R . ' B) earrs'qu_.!Jrr

C) Guon e o D)  sLLemié,

The boundary between felsic 7a.nd mafic rocks of the crust is known as
A)  Conrad B) Caldera

C) Moho D)  Gutenberg.

x! 1910 | , » [ Turn over
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154. @eoney P Blo FTed afgo. oouttararL fleo Hfiasst gHuRuLSDS

HITEHTDTE SEOOEUG!

A} emgryem ereyiGuwt s B) yellditoy SereiGuursd)

Cl soed)p JeraQuuisd _ D} 2 64ls gei@pd NerapiQuutédl.
Most of the earthquakes of shallow focus range are-t;:aused due to '

A) ‘ normal faulting B}  gravity faulting

C) reverse faulting . D) thrust faulting.

155. SR BoHTaSES PHTRIHTH HODTEHE &L WSHEHD gordlaanhg oo Ouflu
seoILLre @\Hheder Guwr '

A) CuiGeuwr : ‘B)  urhgelar |
C) . Geramieurenm Hlewd " D) smery Hleb.

Before drifting, all the continents were united together as a single supér-
continent which is known as

A) Pangaea ' B) Panthalisa
C) dohdwana land D) Angara land.
156. Jebreumh snpmimeanen 5@@&@@ G&rreis :
L L@géﬂaﬂmﬂé Qedaysinen i LD NearsmiL e
II. &3 iy w §m5m§. Qupyeieng
HI. a6 swoulyoLw Hsas Qupdlpssaldane

IV. 58 Senwliyenw sl S 6T GODa.

@\submist :
A lopps I sflurerianeu ~ B)  Ilupgd IV eflurereneu
C) IMuwppod I sfureremey D) eansgb sflurereme. |

x[1810] |
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Consider the following statements :
L -Trichmc sec;;piqns are only- pina(:(:)ida:.l. |
'II.  They have only one plane of symmetry.
Ul They have no axis of symmetry.
IV. They lack a centre of symmetry.
Of these statements : | |
A) I and II are correct ' B) II and IV are correct ’
) 111 and | are correct D} ali are correct.
' 5.7. Sesteumeveneupmet e arfinene @mqﬁtﬁ’ls&r 619,601 5 B 65T D s (Hdpg »

A} abeuTwest —» GiUI.q.Ij‘l.TI;D(BUWQS\UJGBT - Jefefiuer - Geusmalwen - JeSlwenr -

sudCaaflwed

B) aperust — aalsallusr — eugrroGurelwe — Qeusealudr — Sedlwsr -

Slefl eNwieit

C) apeumwer - équmh(ﬁurre&ms&r = cusBaeflues — Geugrailuer — SeMeNwesr -
SeSlwesr.

D) @eupper ergeydldanes.

Which one of the following correctly designates iné;:easing degree of volcanic

activity ?

A) - Héwaiian — Strombolian —> Plinian — Vf:suviag — Pelean — Vulcanian
B} Hawaiian — Vulcanian — Strombolian — Vesuvian — Pelean - Plinian
C) Hawaﬁan —» Strombelian — Vulcanian — Vesuvian —)l Plinian — Pelean

D) None of these.

x_Eslo} _ . ' o { Turn over .



UDGE ' 64

158. yallenr Guipurtledmba oL ypwrs sfurer 2iG66s QerLor Csis :

A) wrds — Shor — o Gar — (Bmsiétq.éo — Qo

B) #lor — Hlure — Guange — Qur@ar — Garr

C) BSurés — QurBar — fivr — Guengé — Bamt

D) GCur@er — furédw — Slor — Quesngd — Camr.

Select the correct sequence of layers of the earth from surface to bottom :

A)  Sial — Sima — Moho — Mantle — Core

B) Sima — Sial — Mantle — Moho — Core

C) Sial — Moho — Sima — Mantle — Core -

D) Moho — Stal — Sima — Mantle — Core.’
159. qggj@é,mnasr gllwed srer Syemeysef :
A) q@,‘@urréa, ﬂrﬂu.u.’;, T | B)
T ge. Siflw, Gurs, mjrr : D)
- Ascending order for geological time units is
A} Age, epoch, period, era | | B)
Q) Age; period, epoch, era D}
160. yGrefwib-238 &1 T eurrpésmevid
A 4.5 Béeue Qas'mipéssfr | ' B)
C) 45 Li]é)e&u.;hh %GO’UT@BS& D)
Half-life of Uranium 238 is
A) 4.5 million years B

C) 4.5 billion years - D)
x{ 1910 ]

@uré, sy, Ofw’, gep

Aflwl, mym, @uUré, geh.

Epoch.‘ éra., period, age

* Period, era, epoch, age.

4 BeveSlwesr 9y ctor RSl

4 Nevedlwesr gy ool

4 million years

4 billion years.
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161, e, gTaT GuTedTn LD Heinlniléo I;EGWL_ 2_(HEOET LiSe Henbdlest G,
A)  pévebhuctt el : Bl QuenyGengh
C) 2 meer ougeub D)  2.@GLEs sdd augeand.

| e are fong cylindrical surfaces in columnar structures.
A) Mullions B) Boudinage
C) Cylinder_sl D) Rods.
162. afendlain Qerit aldlpaonsarar Sflypsn Qaiseur
A)  Ggibev qup et ' B) eléellub eublg
C) &&r‘rsueiu eRwev ' D) Slyev.
Thf; law of faunal succession was proposed by
A) " James Hutton B) William Smith
C)  Charles Lyell o D}  Suess.
163. Jettaumd sapmsemer sauarsdles Gamete :

Seteumealeeubpie b euems Gaohael aanGaran apy eugalld gGsrblolfa
Ggrgdller 2 gerdiyererg.

L Slwrerg o1 gwUGSeTeT (WPHGHTERT (PoRiIGET
. eder 3 opassanh Gaban, wsb gemgsSpng
‘mu. 8 Y& FLd Gl wab GuppeTer S Leaseor (111}

IV. @t SeardHgin.

b3
@leubpyer :
A Twobgo I Bl 1 wpmd HI
' Lopgub I D) I Huwpg I

x[1910] [ 19000 | - [ Turn over
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Which of the following characters define an octahedron belonging to the

isometric system ?
I. Solid with equilateral triangular faces
II.  Each face cuts all the three axes
m 8 face’ﬂ solic"l each face having indices ( iII )
IV. Al of these.
Of these statements :
A landll | ~ B) MNandI
¢) landil o D) L Iand I
164. o frellens perrLLsdlermer Ligeysetr gLl Curg e Gargh Seowi e Guwr
A epse Hesowiy B) - a;emeumrﬁéns- SiH&HenILY |
C) areuflens S(Bésemoly A D) 5@!}&&. allens s,
The sedﬁnents left by the density currents commonly shows the structure, called
A)  cross bedding | B) ripple bedding
C) graded bedding D)  current bedding.
168. Caupu@sslsr poLgopild waots Wsdld ghUGD un.q.amm:fr @allyd |
@ hisenT e ey | ' '
A) u&smrp &by uGHiflesr m&,@uﬂla‘: B) urenp @jpiy u@dierr afleflinfé
C) urep Gpbidr gagugdilie ‘D) umenp @ptbﬁ]s&r.agé)gr @S,

In the process of differentiation the minerals of early crystallisation concentrates
- towards

A)  centre of the igneous magma
B) margins of the igneous magma
C)  floors of the igneous magma

D) top of the lgneous mass.

x [1510] ' [380%0]
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166. QpiGaiel fldenear.. arhasils, ag seeuru IrésaaTurs e eTerg ?
A) CulBe 2sier waimenem Galdse
B)  apissdle siwssbd e i
C) Qo ybu@sed Gubdghas:
‘D) uwellg s&db.
In Neyvell lignite mines, which is conéldered more problcmatié ?

A)  Dumping of overburden B)  Artesian water

C) Excavating machines D) Manpower.

' 167. Qsdauad Qsrgdiiie WY LGs SFssselar GOUG urdvuy eflures Camesb
uirj)[gjt‘o Luppeleneme

A) Eeewwres urymb e ( SeneyGame )
B) . Geeupp _urrgndtgr’re‘rq ( SiemeyGamen )
C) sﬂ&;é\mn&mnm Smib

D). @mﬁ)@a‘r arglapbléienes.

The orthorhombic system is referred to three crystallographic axes mutually at

right angles and having
A) equal parameters - B)  unequal parameters .
C) different lengths " D) none of these.

168. glldler suguugdde 2.cren sdeafl Lrepsele uruers sramuuGdn grg
.................... aTan e p&slLBEDg. ' '

A) CLHANCsmayes Ligand B) GeasNCamayssr Lugeub
C)  Cpdlgueués Lgeud D) . stieflGuaye Lgeuibd.
Ore which is found evenly scattered in deep seated igneous rocks is called

~A)  dissemination deposits B} segregation deposits

residual deposits _ D) sublimation deposits.

‘ C)
[Eiﬂ -x[1810] | _ { Turn over
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169.

170.

dppomen s D SoLUYDILY aglumd Wslsran Qaregd SNMals
SnCaram Qgr@d o ereng 7

A 2 By 3
C) 5 D) 7.

How many symmetry classes are present in the trigonal division of hexagonal
system ? ' ‘ )

. A Two, : B) Three

C) Five D) Seven.

2 ey STFRIOTS eury Hlavewde wrPl Vetart Sao@b, @eophs Qeaulud Hmd
Sipsp Reoade 9C8s 2.Bausdled gHuBD UGUBHDG .. ovv.cvvv.enei, TR L.

Al eanl Gpr Ggiiné Gerelyayes B)  suefGoeyst Ligeud

C)  ereumuuCrayest Ligeuh D) QeganGLayer um,émb.

- During mineral formation, -some minerals initially volatilized by heat and

171.

Z

subsequently redeposited in the same form at low temperature and pressure is
called '

A) hydrothermal solution : B) sublimation deposits
C)  evaporation ore deposits D) sedimentation ore deposits.

FTHTIEOT QUGLUS erihg BrHCaran Qgred) aetug

4 2 2 2 2 2
A Hmm Bl mmm

6 2 2 4 - 2
C) mmm D) ™ 3 e
Normal class of tetragonal system is

422 g 222

mmm mm m

6 2 2 4 — 2
O mmm D m 3w

[E
i
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172. qu.{mwrtl,'m[.rgrréasr&mmt;'m@mb 2CarmiGarenel. Gurép o saflvb QameaL
LTenDHET S (HEUTGD (LoD —
A)  seeurg @ya wpeawrs CounuBse
t Bl ugswrze wewrs CauguBsd
C)  augs Bpellen Cagudse
D) yediriny afeosilé GoupBae.

Monomineralic rocks such as dunite, pyroxenite and anorthostte owe their origin

to
A)  differentiation by liquid immiscibility
B}  differentiation by érystalh'sation
-C)  Hitration dlffemﬁﬂaﬂon
D} gravitational differentiation. -
172, drgrafler sganggatens erally
Aj 7-0 o B} 7.5
c 80 b} 85
Ha:dﬁ&cs of zilfcon is
A 70 B} 75
C} &0 ‘ 7 D) 8-5.
174. Seiaugpd LTepsEphel @wse-Oleu ﬂ-rlbwirﬁ)gjég.né)- L@mn@;’o urenp ergl 7
A wGar | B e
<) anoLﬂéJGmWL;.. . D) santiael.

Which of the following iocks is produced by the dynamothermal
metamorphism ?

A)  Slate | ‘ B) Schist

C) Phiyllite D) Quartzte.

(w0 (16600 " {Tumn over
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175. DI LTED&ET 2_(HeuR & 5irgmwnm LT oD ra_(r_gwrrﬁ)gﬁéls&r Gt
A} Qar® 2 morhobd : ' B) @y pflee o @Goappb
C) Gué WwHs a.@mmbtbfn D) 6.C.|;é,1énnei'uxq.é: 2_(HOTHpLb:
Mylonites are producéd by
A) contact metamorphism B) plutonic metamorphism
C) ‘lo'ad metamorphism D) cataclastic metamorphism.
1;76. O #5I7 LGED 14 e EETH EWDESILL Heleng
A) SIS GTD + STEHOT (PHELIY6Y
B) &cu‘zrr@asan.eq + us N @a,mu}cﬁ
C)  uenaflp poaugey + HaTaHTb
D) sersgigh + sri sgaig.ey.
A cublic crystal with 14 faces is made up of
‘A} Cube + Octahedron B) Octahedron + Dodecahedron
C) Dodecahedron + Cube D) Cube + Rhombohedron. |

177. 2 @orppl urepdéd Al erey safivtiss Hophg, @ar Cod Guiu g sbser
uglbg Fettend 2 efren mictTamrenwalest it

A} srlindlemmeugd pictocoenney

B} ewealiligsd mpeiamanney

C)  urtSHNGymSlenmeug s Faamtenoey
D)  unisfleNigé @Gdsrmemmsq.

The texture, in which larger crystals of metamorphic minerais are found n a fine
grained ground mass, is called '

A) cataclastic texture _ B) mylonitic texture

C}  porphyroblastic texture D) poikilitic texture. .-
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66 wewporw doat silyssri® {211) aspos googss £6p @pﬁutﬂl..l._
 STHEL T QPTLILTS QerTTOTeN FITD E:I'I'L._@é;‘mgj ?

A) preiE apenDssei ‘ B} @m@ (DD &G
C) Qoo weopseh D) g o

A face with Miller indices ( 211 } will intersect the a-axis at which one of the

following values in relation to the fundamental distance ?
- A) Four times B) Three times

C) Two times Dj One time.

Qurgiaure GusbenLLl QaTg et srtdgeier LTenpser
A) Q@mm’r&,@gww&; wHpid Lwen  B)  gpieme whmpih CanGir
C) urdlleopl whgd HCprlermuwit D) dgrenel whHpd FusveT.
Pegmatitic growths are generally found associated with .
A)  anorthosite and diorite B) aplite and gabbro
C) dolerite and granophyre " D) granite and syenite.
ulguéd Igp ulgud Mo 6 Quresdd), £Cp Qar@ssiul.Geren GHGamens
Qeraa® sfiurer il amwug CathGis® :
ulgue I - Llgué I

a) dlepsy &THS WD eogym &l
bl @UUETETEL. &IHG (PeD Slyerol. ev@uminsin
o Sgeiud syks wep Gurtr® wbmid Nevevry
) dessl sgis gpeop

S

&Cenrf) Camméy.

, @!ﬁdf@ﬁsﬁ :

B) 4 1 3 2
Q 1 2 4 .3

D) 3. 4 2 1.

:x [ 19000 [ Turn over
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Match List I correctly with List I and select your answer using the codes given
below : '

List I . List II

o

a) Underground mining Sluicing

b) Open cast mining 2. Breast stoping
c}  Alluvial mining 3. Board and pillar
d) Coal mining 4. Glory hole.
Codes :
a b c d
A 2 4 1 3 i
B} 4 1 3 2
C) 1 2 4 3
Db 3 4 2 1
181. yqmev@Lredr sretugpsTan b LSD
A)  dgsdun . B} dific
C) ooy D)  sprasbureny.
Pudding stone is a synonym for
A) Breccia B} Grit
C) Oolites : D) Conglomerate.

182. dlesteumid sapmisenen seuanpdld Qamsia :
L. @Reammengl Lsamedlphb Glameoil g
1. @Ceamey GurCenr aﬂaﬂeuﬂé Qemgulle ugsoTHng
Ifl. @Qenmenyligedr &,qm&;gs&rmm 3 & @ wHE 4 eueniy

IV. @Geamenyl cuciorenrd Ggefloupp @@L.lﬁ'@ Blphsemen &rao Nbeh.

. @leubhgyet : ' L,
A} lwlpb sfurerg - B} ! oboyb I sflurearaney
C) L Hwoppbd IV sflurerema D} oaggn eflurarae.

x[1010] [ 16600 |
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Consider the following statements :
I Chilorite ts green coloured
II.  Chlorite crystallizes in monoclinic system
III. Hardness of chlorlte; is3to4 |

IV. Chlorite exhibits anomalous interference colour.

~ Of these statements :

A) 1 alone is correct B) I and II .are correct ‘

C) | I. 1 and IV are correct D)  all are correct.
) ) . '

= Qs ePLIGRDE

A) BITCa(R WG (& & FTITHTOIONS §pbd DLW HeTD

B) @ran® wgly s Es @DULLL S6TD (LPIpenDyLedT

) EDHDEGRU SFHL.GOT LU E5 QIFHGSHGIL66T LGfTG‘ITg'

184.

D} @eubper ergieufidenes.

2
s denotes

A) a two-fold axds normal to plane of s&mmetry

| B)  a two-fold axis with a plane of symmetry through it

C)  arotation axis with a diad axis perpendicular to it

D)  none of these. |

2nCarem Qe @Hiie @gmrrs'v @be Belerav 2 heur fenpg
A)  Lméenues algl : B)’ aarrr.?éosiuﬁrn; N
0 Guisdeersr o D)  gourefy oig.
In hexagonal system the twins- are formed according to |
A} Doulphine law B) Carlsbad law

C) Pericline law D) Japanese law.

x'ng_m [ 19000 [
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185. & Q&n@&mﬂuﬁ_gmm&@m sflursl QUITEHSSILLL aneu aTaneu 1

L. G emetL — Fe,0,.H,0
1. QCuéwren i | — Fe, 0,
.  dregl : '—  FeCOQy4
V. (B;e:mma;n_l'_ —  FeO.
@apdén :
&) Loppd 1T Bl I Il wpgd HI
C) L Il wpgd IV D) I, 1L I whgib IV.

Which of the following paifrs are correctly matched ?

[.. Limonite — Fe,0,.H,0
II. Magnetite — Fe,0O,
.  Siderite - —  FeCO,
— IV. Hematite ' —  FeO. )
Of these
A} landll B) L IlandHI
C) L llandIV : D} I IL i andIV.

186. CorsCal. efiCamellgpdlen sremiuin 2 oLps uﬁmwp&, gHDeEHGD HSHGD '

A Serfply Ggmiiy B} gy Qgmiy

C) GCpmpady | D) Coupinit..

in cognate xenoliths, the fragments of rocks are .................. related to enclosing
rock. -

A) diagenetically | B} genetcally

C) closély D} vaﬁediy.

x[1910] .
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187. &p QerPssuLl L oas@set sl QUIGHBUILLL e e 2

I.  Gepwenl - — Fe, 0,

iI. euogl — Cu,O

HI. &sreemsl -— CaSO,

V. Gurireneoy. — CuFeS,.
@epfa:
A) . 1, T whpbd I | , B) I, 1 whgb IV
C) I Noppd IV D) LU I o V.

Which of the following pairs are correctly matched ?

L Haematite — Fe, 04
II.  Cuprite —~— €Cu,0
. Calcite | — CaSO,
IV. Bornite —  CugFeS,.
Of these
A)  LHandIl ' B) LNland IV
Q) I, Iand IV _ D) LI, IMandIV.

188. SCuyeanil. sfla Geraumpd getempaanens ClemamL g
L SuGufam’. sflalldr S o cmemws sflaller sereneu ofl_ eoney
1. gaGars SLCuran. sfla seralibed Grand Hossd o B

nm,  uCupeo.. sfley, ugasefllar Hedlbe Ceugdsrer deaesdle
SETESILGESIDE

V. SuCuyeam. sfeldr syeney 0° apaéd 20° cuenaaiiéo HempyD.

' @mlj)lﬂe'u :
A}, lwopgbd I B) Ilwppo I
Cl  Hlwppon IV D) I uwpgib IV.

x[ 1910} : [ Turn aver



UDGE 76

189.

190.

Apparent dip has which of the following characteristics ¢
I. Amount of apparent dip is less than true dip
II.  For each apparent dip value there are two directions
NI.  Apparent dip amount is measured perpendicular to the strike .

IV. Apparent dip amount varies form 0° to 90°.

Of these :
A) I and II B) II and 1l
C) Mand IV ' D) Ilandlv.

2 LrHnL uTepsafid srauu@in weliureapselsr agdlu nieamaayseflsr

Gluwrt

A) GlgreSIé,L'_ (51 0 T el ey &6t B) Qyeli&en

Cl  urellinGlenenl mao TRt enDa 6l D) @encu a{@s&r&@fﬂ.
Remnants of original textures retained in a metarn(;rphic rock is called
A) relict textures B} relics

C) palimpscst textures D) all of these.

edTeu(m eustt eupbmysit o] mc&b'n_g)uq.m saflo e sHanud gngu&.g.j 6Tg 7
A OmSefer B) susd

C) SMiresTL - D) wréemenL .

Which of the following does not belong to placer mineral ?

A Nephehné. ' B) Gold

C) Garnet ' D) Magnetite.

x| 3o30] (5650,
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191. @ wetoL b GeiLig)
A) u@m;rsiuq Criig Agmius yefl
B) . e&fb(grg.rr cuig G g prind) y e
C)  ©SyrGan G'iUf.q.(Bf}L'_l..q.@Uerlj el

D)  @euboisr ergjc;p&a'z_me\:.

Azoneisa
A}  Dbiostratigraphic unit B) lithostratigraphic unit
C) chronostratigraphlc- unit D) none of these.

192. é]rj;@euu QLS]UE‘IM@ . Sineallesr QeTL SHES BGS
) gyialevet — g fludr — ygremm — dynall et Gmsy
B) aﬁ,r‘ré@ssu.;s&r — ygrreotm — yrali e — gy flued Geplisn
Q) oy t&Cawet — fyrali_er — ypnerm — yflwer Geiien
Di. - dlgral et — tsCawel — ygmerm — et @@Geﬁ;.
T.he sequence of the Indian Geological time scale is
A)  Archaean — Aryan ~—— Purana — Dravildian groups
B) Archaeén'—- Purana — Dravidian — Atyan groups’
C)  Archaean — Dravidian -~ Purana — Aryan groups

D)  Dravidian — Archaean —~ Purana — Aryan groups.

x| 19_(')j i "Marn over



UDGE | 78

193. ulguwéd Im ulque M2 d QurEpsdl, SCp @&W@&")GBUUL@GHGTT @,gS]uﬁ’@aamme:'
Oaream® sflurer aloows (Bg,lrg,@g)@

uCqwe I uligquwé IO
a) &®m _ - L eowuGprdlenren sel
b) Ble syditey Gleuliug s v gL L kil

c eaflveeser Feulls geveae

o wow

d) seion_hsefler B&Fey

eolvpser :

Hléas wHpd Gody

A 4 3 2 1
B) 4 3 1 2
C) 4 1 2 3
Dy 1. 4 3 2.

Match List I correctly with List IT and select your answer using the codes given

below ;
List I : List I
a) Core ) 1. Pyroclasts
‘bl Earthquake 2. Convectional currents
¢) Volcanoes - 3. Seismic waves
d) Continental drift 4. Nickel and tron.

Codes :

B 4
o 4 1 2 3

D) 1 4 3 . 2.
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dlu;b'rlm@mmmgb@mﬁ ‘er.rﬂtqgc.b_e\;prrmg)&'éﬂsh s assofle ag. Nean g geeiaerang 7

A) a;és(%gnrr@w@gt. B) eafluee L6l
C)  eomléued IR D) QL.&@LLC..

Which one is showlng verye fine grained nature in the following volcanlc rocks ?

A) Agglomerate l B} Volcanic tuff

.C) Lapiﬂj ' D). Tektite.

e, upué) g ulqué I Ldn Qur@esd, af@p Qan@mauuu_@msn @@uf@&mm&
Qereso® sflumen mﬂlml_mu.ng, (Bg,mj,@g@

ulig wé ) S : o uﬂ.q.mép-'nl
9 udfeGeias 1 Geler GaGudaGe
PN T LA
b) . sreELTHL v 2. Gedlasten WL emptnié
<) Gigaﬂ@@mLLL_, 3. @sﬁkujrsm Qg,m__r'nﬂsb GTJ@.IJJ
D wssdets 4 Geke GoQuate

Eenemriur s eu(hHib.

ePser

A 4 3 2 1

B 1 3 2 4

. x{1910] . [ Turnover
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Match List I correctly with List II and select your answer using the codes given

below :
List ¥

a) Polysynthetic
b Contact
c) Geneculated
d) Cyclic

Codes :
a b ¢

aA) 4 3 2

B) 1 a3 2

c 4 2 3

D} 1 2 3

4. .

List I
1. Twin lamellae cyclic

2. Twins are knee shaped

.9:

Twins lie merely in contact

4. Twin iamellae are paraliel.

196. Sléreumeuatcupmuet erg eupra QUITGSSHILIL (BeTerg 7

A)

B)

)

D}

Which of the following is wrongly matched ?

x| 1'9Tp—}

Gallsr gemb

[001 ]
[0t ]
|o1n]

[021]

Twin plane

| 001 ]
{oo1]
|010]

foz1]

Gafis
wehEus
&t eehoury
MITdeeruLITL.

uel@emr.

Turin
Manebach
Carlsbad
Carlsbad

Baveno.

[ 18000 |
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197, aul L.algeuinTedl LIg SeNWDLLL T eshs u@ﬁ&men\eh GaraoiL syhe ep

Hesreugpongy $evpébastuRdipg)
Al gQgigh B  @Carf Capreé
C) s idlraer® D) eugMu esweflih,

The mining method where the working faces are arranged in the form of

concentric steps is
'A)  dredging . B) glory hole
C}  underground D}  strip mining.

198. ureplle, safiv, mrgs golugdar Cotpa sramuudb Caomawin alsSsi.
saflpas@er GHOSIHm Giemé

A)  Qient Bi  #uurmer
C)  Gagemeuwdno mafliomseh D). 2 Gersd &16'\)6\)‘“5@)611

The discarded silicate minerals which are associated with the ore deposit are

called
) tenor ' ‘ B}  solids
C}  gangue D]  non-metais.

192, e dGaraniemyl ensu‘ﬂmg‘gé‘.a":r Beuglues apeddns
Al CuO.FeS Bl CuS.FeS,
C) ~ CuFes, D) Fe.CuS.
The chemical composition of chalcopyrite mineral is
A} CuO.FeS | B} CuS.FeS,

C)  CurFeS, D) Fe.CuS,

x[ 1910 - | Turn over
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200. g,i&gp[bm'_qéu. 5 Garssleiend Qpreslit sTeuy eréen sramiu@io @)L
A QupLGeuell ‘ Bl grexfseflnas
C) ﬂ&,gmgaﬁr# D) @@uqblbqgrrfr.
In Tamil Nadu, ptilophyllum flora is found in
A) Neylveli | - B) Thcrapi clays

C)  Sittam Pundi D)  Sriperumbudur.
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